
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(tqykbZ eSx”khu tk¡p ijh{kk)
fnukad& 11-07-2021

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	dks;yk xSlhdj.k ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 dks;yk xSlhdj.k dks;ys dks flaFksfll xSl ;k 
fluxSl esa ifjofrZr djus dh izfØ;k gSA

	 2.	 fluxSl dk mi;ksx fctyh mRiknu vkSj moZjd 
tSls jklk;fud mRikn ds fuekZ.k lfgr fofHkUu 
izdkj ds vuqiz;ksxksa esa fd;k tk ldrk gSA

	 3.	 vkfFkZd ekeyksa dh eaf=keaMyh; lfefr us rkypsj 
iQfVZykb”klZ fyfeVsM }kjk dks;yk xSlhdj.k ds 
ekè;e ls mRikfnr ;wfj;k ds fy;s fo'ks"k lfClMh 
uhfr dks ea”kwjh nh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh
	 2.	gky gh esa Hkkjr vkSj fczVsu ds izèkkuea=kh ds chp ,d 

opqZvy f'k[kj lEesyu dk vk;kstu fd;k x;kA bl lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%	

	 1.	 Hkkjr vkSj ;w-ds- }kjk ^jksMeSi&2030* dks viuk;k 
x;k tks oSf'od LokLF; lqj{kk vkSj egkekjh ls 
fuiVus esa fczVsu&Hkkjr ds chp LokLF; lk>snkjh 
dk foLrkj djsxkA

	 2.	 mUur O;kikj lk>snkjh ds rgr nksukas ns'kksa }kjk dqN 
fof'k"V {ks=kksa esa ,d&nwljs ds fy;s vius ck”kkjksa 
dks [kksyus ij lgefr gqbZA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1] u gh 2
	 3.	^foèkku ifj"kn* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s&	
	 1.	 lafoèkku ds vuqPNsn&169 ds vuqlkj jkT;ksa esa ,d 

foèkku ifj"kn Hkh gks ldrh gSA

	 2.	 orZeku eas dsoy vkaèkz izns'k rFkk rsyaxkuk esa foèkku 
ifj"kn gaSA

	 3.	 gky gh esa if'pe caxky dh ljdkj us jkT; esa 
foèkku ifj"kn dh LFkkiuk dk fu.kZ; fy;k gSA

	 	mi;qZDr dFkuksa esa dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2
	 (c)	 dsoy 1 vkSj 2	 (d)	dsoy 2 vkSj 3

	 4.	lafoèkku ds vuqPNsn&311 ds rgr lajf{kr O;fDr;ksa dk 
p;u dwV dh lgk;rk ls dhft;s%

	 1.	 la?k dh flfoy lsok

	 2.	 vf[ky Hkkjrh; lsok

	 3.	 fdlh jkT; dh flfoy lsok

	 4.	 la?k ;k fdlh jkT; ds vèkhu flfoy in èkkj.k 
djus okys O;fDrA

	 	dwV%
	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1, 3 vkSj 4	 (d)	mijksDr lHkh

	 1. 	Consider the following statements in the context of 
'Coal gasification':

	 1.	 Coal gasification is the process of converting 
coal into synthesis gas or syngas.

	 2.	 Syngas can be used in a wide variety of 
applications, including power generation and 
the manufacture of a chemical product such as 
fertilizer.

	 3.	 The Cabinet Committee on Economic Affairs 
has approved a special subsidy policy for urea 
produced by Talcher Fertilizers Limited 
through coal gasification.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 All of the above.
	 2. 	Recently a virtual summit was organized between the 

Prime Ministers of India and Britain. In this context, 
consider the following statements:

	 1.	 India and the UK adopted the 'Roadmap-2030' 
which will expand the UK-India health 
partnership in global health security and 
combating the pandemic.

	 2.	 Under the Advanced Trade Partnership, both 
the countries agreed to open their markets to 
each other in some specific areas.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 3. 	Consider the following statements in the context of 

'Legislative Council'-
	 1.	 According to the Article-169 of the Constitution, 

there can be a Legislative Council in the states.
	 2.	 At present only Andhra Pradesh and Telangana 

have Legislative Council.
	 3.	 Recently the Government of West Bengal has 

decided to establish a Legislative Council in 
the state.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 2 and 3 only
	 4. 	With the help of the given code Select the persons 

protected under Article 311 of the Constitution: 
	 1.	 Union Civil Services
	 2.	 All India Service 
	 3.	 State Civil services 
	 4.	 Persons holding civil office under the Union 

or any State
		  Code:
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 All of the above.
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	 5.	U;k;ky; dh dk;Zokgh ij ehfM;k dks fjiksVZ djus ds 
vfèkdkj ds lacaèk esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vnkyrh lquokbZ dk ehfM;k dojst izsl dh Lora=krk 
dk fgLlk gSA

	 2.	 U;k;kèkh'kksa vkSj odhyksa ds chp vnkyrksa esa ekSf[kd 
vknku&iznku lfgr vnkyrh dk;Zokgh dh ;Fkkle; 
fjiksVZ djuk] okd~ Lora=krk ;k vfHkO;fDr dh 
Lora=krk ds vfèkdkj dk fgLlk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	

	 (d)	 u rks 1] u gh 2

	 6.	gky gh eas 15osa foÙk vk;ksx ds vè;{k ,u-ds- flag us 
LokLF; dks lafoèkku ds rgr leorhZ lwph esa LFkkukarfjr 
djus dh vuq'kalk dh gSA bl lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 blls dsanz dks fu;ked ifjorZuksa dks ykxw djus] 
csgrj LokLF; lsok iznku djus vkSj lHkh i{kksa ds 
nkf;Roksa dks lqn`<+ djus ds fy;s vfèkd volj 
feysxkA

	 2.	 LokLF; ij ljdkjh [kpZ dks o"kZ 2025 rd thMhih 
ds 2.5 izfr'kr rd c<+kuk pkfg;sA

	 3.	 lkoZHkkSfed LokLF; lsok chek ds egÙo ij ”kksj 
nsuk D;ksafd lekt dk ,d cM+k oxZ vHkh Hkh 
bldh igq¡p ls nwj gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3

	 (d)	 1] 2 vkSj 3

	 7.	lkekftd vkSj 'kSf{kd :i ls fiNM+s oxZ (SEBCs) dh 
lwph ls lacafèkr fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 izR;sd jkT; vkSj dsanz'kkflr izns'k ds lacaèk esa Hkkjr 
ds jk"Vªifr }kjk vfèklwfpr lkekftd vkSj 'kSf{kd 
:i ls fiNM+s oxZ dh ,d gh lwph gksxhA jkT; ds 
ikl bl lwph dh igpku djus dk vfèkdkj ugha gSA

	 2.	 jkT; dsoy bl lwph esa cnyko ls lacafèkr fliQkfj'ksa 
dj ldrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 

	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1] u gh 2

	 5. 	With reference to the right of the media to report on 
the proceedings of the court consider the following 
statements:

	 1.	 Media coverage of court hearings is part of the 
freedom of the press.

	 2.	 Timely reporting of court proceedings 
including oral exchanges in courts between 
judges and lawyers is part of the right to 
freedom of speech or expression.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 6. 	Recently, the chairman of the 15th Finance 

Commission, NK Singh, has recommended 
transferring health to the Concurrent List under the 
Constitution. In this context, consider the following 
statements:

	 1.	 It will give the Centre more opportunities to 
implement regulatory changes, provide better 
healthcare and strengthen the responsibilities 
of all stakeholders.

	 2.	 Government spending on health should 
increase to 2.5 percent of GDP by the year 
2025.

	 3.	 To emphasize the importance of universal 
healthcare insurance, as a large section of the 
society is still out of reach.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 7. 	Consider the following statements in the context of 

list of Socially and Educationally Backward Classes 
(SEBCs):

	 1.	 There shall be a common list of socially and 
educationally backward classes notified by the 
President of India in respect of each State and 
Union Territory. The state does not have the 
authority to identify this list.

	 2.	 States can only make recommendations 
regarding changes in this list.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 8.	gky gh esa la;qDr jk"Vª vkSj vU; ,tsafl;ksa }kjk fo'o 
izfrj{k.k lIrkg ds nkSjku ^izfrj{k.k j.kuhfr&2030* dks 
ykWUp fd;k x;kA bl lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g la;qDr jk"Vª ds vfuok;Z lrr~ fodkl y{;ksa 
dks izkIr djus esa ;ksxnku nsxkA

	 2.	 ;g n'kd (2021-2030) gsrq oSDlhu vkSj Vhdkdj.k 
ds fy;s ,d egÙokdka{kh] vfrO;kih oSf'od n`f"V 
vkSj j.kuhfr fuèkkZfjr djrk gSA

	 3.	 bl dk;ZØe ds rgr Vhdkdj.k ls oafpr cPpkas 
vFkok 'kwU;&[kqjkd okys cPpksa dh la[;k dks iw.kZr% 
'kwU; djus dk y{; j[kk x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 9.	lh-vkj-ih-lh- dh èkkjk 144 ds lanHkZ esa dkSu&lk dFku 
lgh ugha gS\	

	 (a)	 èkkjk 144 f”kyk eftLVªsV] mi&foHkkxh; eftLVªsV 
;k jkT; ljdkj }kjk fdlh dk;Zdkjh eftLVªsV dks 
fgalk ;k minzo dh fLFkfr esa rkRdkfyd izkoèkku 
ykxw djus dk vfèkdkj iznku djrh gSA

	 (b)	 ;g vkns'k dsoy vke turk ds fo#¼ ikfjr fd;k 
tk ldrk gSA

	 (c)	 ;g èkkjk vfèkdkfj;ksa dks {ks=k esa baVjusV igq¡p dks 
vo#¼ djus dk vfèkdkj nsrh gSA

	 (d)	 bl èkkjk ds rgr tkjh dksbZ Hkh vkns'k lkekU;r% 
2 ekg ls vfèkd le; rd ykxw ugha jg ldrk 
gSA

	 10.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fo'o LokLF; laxBu dh ,d uohure fjiksVZ ds 

vuqlkj] dksfoM&19 egkekjh dh 'kq#vkr ds ckn 
ls vc rd Hkkjr us Lo;a dks fcuk fdlh lkeqnkf;d 
izlkj okys ns'k ds :i esa fpfÉr fd;k gSA

	 2.	 bVyh vkSj :l us Lo;a dks ^lkeqnkf;d izlkj@
lapj.k* okys ns'k ds :i esa fpfÉr fd;k gSA

	 3.	 lkeqnkf;d izlkj egkekjh ds pj.kksa esa ls ,d gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 1 vkSj 3

	 11.	gky gh esa RBI us viuh fMftVy eqnzk vFkkZr~ lsaVªy cSad 
fMftVy eqnzk ykWUp djus dk ladsr fn;k gSA bl lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 izLrkfor ^fØIVksdjsalh vkSj vkfèkdkfjd fMftVy 
eqnzk fofu;eu foèks;d&2021* lHkh xSj&ljdkjh 
fØIVksdjsalh dks izfrcafèkr djsxkA

	 2.	 ;g foèks;d ^vkfèkdkfjd fMftVy eqnzk* izkjaHk 
djus ds fy;s ,d fofu;ked <k¡pk LFkkfir djsxkA

	 8. 	Recently the 'Immunization Strategy-2030' was 
launched by the United Nations and other agencies 
during the World Immunization Week. In this context, 
consider the following statements:

	 1.	 It will contribute to achieving the mandated 
Sustainable Development Goals of the United 
Nations.

	 2.	 It sets out an ambitious, overarching global 
vision and strategy for vaccines and 
immunizations for the decade (2021-2030).

	 3.	 Under this program, a target has been set to 
completely reduce the number of children who 
are deprive of vaccination or zero-dose 
children.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 1 only
	 (c)	 3 only	 (d)	 2 and 3 only
	 9. 	Which of the following statement is not correct in 

the context of Section-144 of CrPC?
	 (a)	 Section-144 empowers the District Magistrate, 

Sub-Divisional Magistrate or any Executive 
Magistrate by the State Government to enforce 
immediate provisions in the event of violence 
or disturbance.

	 (b)	 This order can be passed only against the 
general public.

	 (c)	 This section empowers the authorities to block 
Internet access in the area.

	 (d)	 No order issued under this section shall 
ordinarily remain in force for more than two 
months.

	 10. 	Consider the following statements:
	 1.	 According to a latest report by the World 

Health Organization, India has identified itself 
as a country with no community spread since 
the start of the COVID-19 pandemic.

	 2.	 Italy and Russia have identified themselves as 
countries with 'community transmission'.

	 3.	 Community spread is one of the stages of the 
epidemic.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1 and 3 only
	 11. 	Recently RBI has indicated to launch its own digital 

currency i.e. Central Bank Digital Currency. In this 
context, consider the following statements:

	 1.	 The proposed 'Cryptocurrency and Official 
Digital Currency Regulation Bill-2021' will 
ban all non-government cryptocurrencies.

	 2.	 The Bill will establish a regulatory framework 
for introducing an 'official digital currency'.
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	 3.	 Hkkjr esa vHkh rd fMftVy@fØIVks eqnzk,¡ voSèk 
?kksf"kr gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 1	 (d)	dsoy 2 vkSj 3

	 12.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjrh; fj”koZ cSad us ^ljdkjh izfrHkwfr vfèkxzg.k 

dk;ZØe* ds rgr ljdkjh izfrHkwfr;ksa dh [kjhn 

dk fu.kZ; fy;k gSA

	 2.	 ckW.M ;hYM dk vk'k; ckW.M ij feyus okys fjVuZ   

ls gksrk gSA

	 3.	 ckW.M ;hYM esa c<+ksrjh ls cSafdax flLVe esa C;kt 

njksa ij ncko c<+sxk ftlls mèkkj nsus dh nj esa 

c<+ksrjh gksxhA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mi;qZDr lHkh

	 13.	^ekWMy ba';ksjsal foyst* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s&

	 1.	 Hkkjrh; chek fofu;ked vkSj fodkl izkfèkdj.k us 

xzkeh.k {ks=kksa esa chek lacaèkh lsokvksa dks c<+kok nsus 

ds fy;s bl voèkkj.kk dks izLrqr fd;k gSA

	 2.	 laln us chek {ks=k esa izR;{k fons'kh fuos'k dh lhek 

dks 49 izfr'kr ls c<+kdj 59 izfr'kr djus ds 

fy;s chek la'kk sèku foèks;d] 2021 ikfjr 

fd;k gSA 	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 14.	^bUÚkLVªDpj bUosLVesaV VªLV* ds lanHkZ esa fuEufyf[kr 

dFkuksa esa ls dkSu&lk lgh ugha gS\	

	 (a)	 ;g E;wpqvy iQaM dh rjg gh ,d lkewfgd fuos'k 

;kstuk gS tks volajpuk ifj;kstukvksa esa O;fDrxr 

vkSj laLFkkxr fuos'kdksa ls izkIr jkf'k ds izR;{k 

fuos'k dks laHko cukrh gSA

	 (b)	 Hkkjr esa volajpuk ifjlaifÙk;ksa ls lac¼ gSA

	 (c)	 ikoj fxzM dkWiksZjs'ku vkWiQ bafM;k us viuk ikoj 

fxzM bUÚkLVªDpj bUosLVesaV VªLV ykWUp fd;k gSA

	 (d)	 bls lsch (bUÚkLVªDpj bUosLVesaV VªLV) fofu;e] 

2014 }kjk fofu;fer fd;k tkrk gSA

	 3.	 Till now digital/crypto currencies are declared 
illegal in India.

		  Which of the statement(s) given above is/are correct?

	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 1 only	 (d)	 2 and 3 only

	 12. 	Consider the following statements:

	 1.	 The Reserve Bank of India has decided to 

purchase Government securities under the 

'Government  Secur i t ies  Acquis i t ion 

Programme'.

	 2.	 Bond yield refers to the return on the bond.

	 3.	 A rise in bond yields will put pressure on 

interest rates in the banking system, leading to 

an increase in the lending rate.

		  Which of the statements given above are correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 13.	 Consider the following statements in the context of 

'Model Insurance Village'-

	 1.	 Insurance Regulatory and Development 

Authority of India has introduced this concept 

to promote insurance related services in rural 

areas.

	 2.	 Parliament has passed the Insurance 

Amendment Bill, 2021 to increase the foreign 

direct investment limit in the insurance sector 

from 49% to 59%.

		  Which of the statement(s) given above is/are correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 14.	 Which of the following statements is not correct in 

the context of 'Infrastructure Investment Trust'?

	 (a)	 It is a collective investment scheme like mutual 

funds which enables direct investment of funds 

received from individual and institutional 

investors in infrastructure projects.

	 (b)	 Infrastructure is allied to assets in India.

	 (c)	 Power Grid Corporation of India has launched 

its Power Grid Infrastructure Investment Trust.

	 (d)	 It is regulated by SEBI (Infrastructure 

Investment Trust) Regulations, 2014.
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	 15.	^,dhÑr ckxokuh fodkl fe'ku* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1.	 ;g iQy] lC”kh] e'k:e] elkyksa] iQwy] lqxafèkr 
ikSèkksa] ukfj;y] dktw] dksdks] ck¡l ds lexz fodkl 
gsrq ,d dsanz izk;ksftr ;kstuk gSA

	 2.	 bls gfjr Økafr&Ñ"kksUufr ;kstuk ds rgr ykxw fd;k 
x;k gSA

	 3.	 bl ;kstuk ds rgr dsanz ljdkj iwoksZÙkj vkSj fgeky;h 
jkT;ksa esa 90 izfr'kr rFkk 'ks"k jkT;ksa esa 60 izfr'kr 
;ksxnku djrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 16.	gky gh esa dsanz ljdkj us nkyksa ds mRiknu esa vkRefuHkZjrk 
gkfly djus ds fy;s [kjhiQ 2021 l=k dh j.kuhfr rS;kj 
dh gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1.	 bl j.kuhfr ds rgr lHkh mPp mit nsus okyh 
fdLeksa ds chtksa dk mi;ksx djuk 'kkfey gSA

	 2.	 fdlkuksa ds fy;s izHkkoh fØ;kUo;u vkSj izf'k{k.k 
gsrq Ñf"k izkS|ksfxdh vuqiz;ksx vuqlaèkku laLFkku vkSj 
Ñf"k foKku dsanzksa dks Hkh 'kkfey fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 17.	lks'ky LVkWd ,Dlpsat ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 la?kh; ctV 2019-20 esa iwath fuekZ.k ds fy;s 
lkekftd m|e] LoSfPNd vkSj dY;k.kdkjh laxBuksa 
dks lwphc¼ djrs gq, lks'ky LVkWd ,Dlpsat dks 
,d eap ds :i esa xfBr djus dk izLrko j[kk 
x;k FkkA

	 2.	 flaxkiqj] fczVsu] dukMk tSls ns'kksa esa lks'ky LVkWd 
,Dlpsat igys ls gh LFkkfir gSa tks LokLF;] 
i;kZoj.k vkSj ifjogu tSls {ks=kksa esa lapkfyr iQeks± 
dks blds ekè;e ls iwath fuekZ.k ds fy;s vuqefr 
nsrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 18.	dkWiksZjsV lks'ky fjLikWfUlfcfyVh (lh-,l-vkj-) ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s&	

	 1.	 lh-,l-vkj- dk izkoèkku mu daifu;ksa ij ykxw gksrk 
gS] ftudk fuoy ewY; `500 djksM+ ls vfèkd gks 
;k dqy dkjksckj 1000 djksM+ ls vfèkd gks ;k 
'kq¼ ykHk `5 djksM+ ls vfèkd gksA

	 15.	 Consider the following statements in the context of 
'Integrated Horticulture Development Mission'-

	 1.	 It is a centrally sponsored scheme for holistic 
development of fruits, vegetables, mushrooms, 
spices, flowers, aromatic plants, coconut, 
cashew, cocoa, bamboo.

	 2.	 It has been implemented under Green 
Revolution-Krishonnati Yojana.

	 3.	 Under this scheme, the central government 
contributes 90% in the northeastern and 
Himalayan states and 60% in the remaining 
states.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 16. 	Recently, the central government has prepared a 

strategy for the Kharif-2021 season to achieve self-
sufficiency in the production of pulses. In this context, 
consider the following statements-

	 1.	 This strategy involves using seeds of all high 
yielding varieties.

	 2.	 Agricultural Technology Application Research 
Institute and Krishi Vigyan Kendras will also 
be included for effective implementation and 
training for farmers.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 17.	 Consider the following statements in the context of 

'Social Stock Exchange'-
	 1.	 In the Union Budget 2019-20, it was proposed 

to set up a Social Stock Exchange as a platform 
by listing social enterprises, voluntary and 
welfare organizations for capital formation.

	 2.	 Countries like Singapore, UK and Canada 
already have social stock exchanges which 
allow firms operating in sectors like health, 
environment and transport to build capital 
through it.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 18.	 Consider the following statements in the context of 

'Corporate Social Responsibility' (CSR)-
	 1.	 The provision of CSR is applicable to those 

companies whose net worth is more than Rs 
500 crore or total turnover is more than Rs 
1000 crore or net profit is more than Rs 5 crore.
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	 2.	 Hkkjr esa lh-,l-vkj- dh voèkkj.kk dks ^daiuh 
vfèkfu;e] 2013* ds rgr fu;af=kr fd;k tkrk gSA

	 3-	 fo'ks"kKksa }kjk ljdkj ds lh-,l-vkj- fu;eksa dks 
vklku cukus dh ekax dh tk jgh gS rkfd 
dksfoM&19 ihfM+r deZpkfj;ksa ds bykt vkSj muds 
Vhdkdj.k ls lacafèkr dkWiksZjsV O;; dks lh-,l-
vkj- O;; ds rgr doj fd;k tk ldsA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mi;qZDr lHkh

	 19.	^dusDVsM dkWelZ* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1-	 uhfr vk;ksx vkSj ekLVj dkMZ us dusDVsM dkWelZ 
ij ,d fjiksVZ ̂ dusDVsM dkWelZ% fØ,fVax , jksMeSi 
iQkWj fMftVyh bUDywflo Hkkjr* 'kh"kZd ls fjiksVZ 
izdkf'kr dh gSA

	 2-	 bldk mn~ns'; fMftVy foÙkh; lekos'ku dks c<+kok 
nsuk gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 20.	gky gh esa phu }kjk Hkkjr ds v#.kkpy izns'k jkT; ls 
yxh nksuksa ns'kksa dh fookfnr lhek ds fudV ,d jktekxZ 
ds fuekZ.k djus ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1-	 67.2 fdeh- yack ;g jktekxZ ^fU;axph* dh 
^iSMVkmuf'ki* dks esMksx dkmaVh ls tksM+rk gSA

	 2-	 ;g jktekxZ frCcr ds lhekorhZ {ks=kksa esa O;kid 
cqfu;knh <k¡ps dks vkxs c<+kus ls tqM+h ;kstuk dk 
fgLlk gSA

	 3-	 ;g jktekxZ czãiq=k unh dh ?kkVh ls gksdj 
xq”kjrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 21.	gky gh esa Hkkjrh; izèkkuea=kh us ;wjksih; la?k ds vè;{k 
ds vkea=k.k ij Hkkjr&;wjksih; la?k ds usrkvksa dh cSBd esa 
fgLlk fy;kA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1-	 bl cSBd esa ^f}i{kh; O;kikj vkSj fuos'k le>kSrs* 
ij okrkZ dks 'kq: djrs gq, ^eqDr O;kikj okrkZ* 
dks iqu% 'kq: djus ds fy;s lgefr O;Dr dh xbZA

	 2-	 nksuksa i{kksa }kjk vU; ns'kkas esa (fo'ks"kdj eè; ,f'k;k] 
vÚhdk vkSj fgan iz'kkar {ks=k esa) lk>k lrr~ fodkl 
ifj;kstukvksa ds fØ;kUo;u gsrq ^dusfDVfoVh 
ikVZujf'ki* dh 'kq#vkr dh xbZ gSA

	 2.	 The concept of CSR in India is regulated under 
the 'Companies Act, 2013'.

	 3.	 Experts are demanding easing of CSR norms 
of the government so that corporate expenditure 
related to treatment and vaccination of 
employees suffering from COVID-19 can be 
covered under CSR expenditure.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 19.	 Consider the following statements in the context of 
'Connected Commerce'-

	 1.	 NITI Aayog and Master Card have published 
a report on 'Connected Commerce' titled 
"Connected Commerce: Creating a Roadmap 
for a Digitally Inclusive India".

	 2.	 It aims to promote digital financial inclusion.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 20.	 Consider the following statements in the context of  
recent construction of a highway by China near the 
disputed border of the two countries with the Indian 
state of Arunachal Pradesh-

	 1.	 This 67.2 km long highway connects the 
'padtownship' of 'Nyingchi' with Medog 
County.

	 2.	 The highway is part of a plan to advance 
comprehensive infrastructure in the border 
areas of Tibet.

	 3.	 This highway passes through the valley of river 
Brahmaputra.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 21.	 Recently the Indian Prime Minister participated in 
the India-EU leaders meeting at the invitation of the 
President of the European Union. In this context, 
consider the following statements-

	 1.	 In this meeting it was agreed to resume the 
'Free Trade Dialogue' by starting the talks on 
'Bilateral Trade and Investment Agreement'.

	 2.	 The 'Connectivity Partnership' has been 
initiated by the two sides to implement 
common sustainable development projects in 
other countries (especially in Central Asia, 
Africa and the Indo-Pacific region).
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	 		 mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 22.	iQj”kkn&ch xSl iQhYM ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g iQkjl dh [kkM+h (bZjku) esa fLFkr gSA

	 2-	 bZjku ljdkj us ̂ iQj”kkn&ch xSl iQhYM* ds fodkl 
dk vfèkdkj ,d ?kjsyw xSl mRiknd daiuh isVªksiklZ 
dks lkSai fn;k gSA

	 3-	 Hkkjr ljdkj us bl {ks=k esa 50 fefy;u vesfjdh 
MkWyj dk fuos'k fd;k gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 dsoy 2	 (d)	dsoy 1 vkSj 3

	 23.	gky gh esa Hkkjr] tkiku vkSj vkWLVªsfy;k ds O;kikj eaf=k;ksa 
us opqZvy eksM esa vk;ksftr ,d f=ki{kh; cSBd ds nkSjku 
^lIykbZ psu js”khfy;sal buhf'k,fVo* dh 'kq#vkr dhA bl 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%	

	 1-	 bl igy dk mn~ns'; dksfoM&19 egkekjh ds chp 
Hkkjr&iz'kkar {ks=k esa vkiwfrZ  Ük`a[kykvksa ds yphysiu 
dks c<+kuk vkSj phu ds vk;kr ij viuh fuHkZjrk 
dks de djuk gSA

	 2-	 Hkkjr] tkiku vkSj vkWLVªsfy;k czk”khy ds lkFk DokM 
lewg esa 'kkfey gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 24.	b”kjkby&fiQfyLrhu la?k"kZ ds lacaèk esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 ;:'kye b”kjkby&fiQfyLrhu ds chp la?k"kZ dk 
eq[; dsanz jgk gSA

	 2-	 o"kZ 1947 esa la;qDr jk"Vª dh ewy foHkktu ;kstuk 
ds vuqlkj] ;:'kye dks ,d varjkZ"Vªh; 'kgj ds 
:i esa fpfÉr djus dh ckr dgh xbZ FkhA

	 3-	 Hkkjr o"kZ 1988 esa fiQfyLrhu dks jkT;@ns'k dk 
ntkZ nsus okys igys ns'kksa esa ls ,d gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 25.	^Øw&2* fe'ku ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1-	 gky gh esa ̂ okf.kfT;d Øw dk;ZØe* ds rgr ̂ uklk* 
vkSj ^Lisl,Dl* ds chp lg;ksx ds fgLls ds :i 
esa pkj varfj{k ;kf=k;ksa dks varjkZ"Vªh; varfj{k LVs'ku 
Hkstk x;k gSA

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 22.	 Consider the following statements in the context of 

'Farzad-B gas field':
	 1.	 It is located in the Persian Gulf (Iran).
	 2.	 The Government of Iran has handed over the 

development rights of 'Farzad-B Gas Field' to 
a domestic gas producer Petropars.

	 3.	 The Government of India has invested 50 
million US dollars in this sector.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 only	 (d)	 1 and 3 only
	 23.	 Recently the Trade Ministers of India, Japan and 

Australia launched the 'Supply Chain Resilience 
Initiative' during a tripartite meeting held in virtual 
mode. In this context, consider the following 
statements:

	 1.	 The initiative aims to increase the resilience 
of supply chains in the Indo-Pacific region 
aimed the COVID-19 pandemic and reduce its 
dependence on Chinese imports.

	 2.	 India, Japan and Australia join the Quad group 
along with Brazil.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 24.	 With reference to the Israel-Palestine conflict consider 

the following statements:
	 1.	 Jerusalem has been the main focus of the Israel-

Palestine conflict.
	 2.	 According to the original partition plan of the 

United Nations in the year 1947, there was a 
plan of marking Jerusalem as an international 
city.

	 3.	 India is one of the first countries to grant state/
country status to Palestine in the year 1988.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 25.	 Consider the following statements in the context of 

'Crew-2' mission-
	 1.	 Recently four astronauts have been sent to the 

International Space Station as part of the 
collaboration between 'NASA' and 'SpaceX' 
under the 'Commercial Crew Programme'.
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	 2-	 lHkh lnL; dqy N% ekg rd Lisl LVs'ku esa jgsaxs] 
ftl nkSjku oss ^fuEu&Hkw d{kk* esa oSKkfud ijh{k.k 
djsaxsA

	 3-	 bl nkSjku varfj{k ;kf=k;ksa dk izkFkfed mn~ns'; 
^fV';w fpIl* vè;;u Ük`a[kyk dks tkjh j[kuk 
gksxkA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 26.	gky gh esa phu us vius LFkk;h varfj{k LVs'ku dk ,d 

ekuojfgr ekWM~;wy ykWUp fd;k gSA bl lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 phu us o"kZ 2030 ds var rd vius varfje LVs'ku 

dks iwjk djus dh ;kstuk cukbZ gSA

	 2-	 ^fr;kugs* ;k ^gkWeZuh vkWiQ n gSoUl* uked bl 

ekWM~;wy dks phu ds lcls cM+s jkWdsV ^ykWUx ekpZ 

5B* ls ykWUp fd;k x;kA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 27.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjrh; fpfdRlk vuqlaèkku ifj"kn~ us ejh”kksa gsrq 

dksfoM&19 ikWf”kfVo fLFkfr fuèkkZfjr djus ds fy;s 

lh-Vh- oSY;w dV vkWiQ fuèkkZfjr fd;k gSA

	 2-	 fjolZ VªkalfØI'ku ikWyhejst psu fj,D'ku ijh{k.k 

ds nkSjku lh-Vh- oSY;w dk irk pyrk gS tks ejh”k 

esa ok;jy yksM dks n'kkZrk gSA

	 3-	 35 ls de lh-Vh- oSY;w okys lHkh jksfx;ksa dks 

fuxsfVo ekuk tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 28.	5th ijh{k.k ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s&

	 1-	 Hkkjr ljdkj ds nwjlapkj foHkkx us nwjlapkj lsok 

iznkrkvksa dks 5th izkS|ksfxdh ds mi;ksx vkSj 

vuqiz;ksx lacaèkh ijh{k.kksa dks vuqefr ns nh gSA

	 2-	 Vsyh&esfMflu] Vsyh f'k{kk] vkWXesaVsM@opqZvy 

fj;fyVh] Mªksu vkèkkfjr Ñf"k fuxjkuh tSls vuqiz;ksxksa 

dk ijh{k.k fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 2.	 All members will remain in the space station 
for a total of six months, during which they 
will conduct scientific experiments in 'low-
earth orbit'.

	 3.	 The primary objective of the astronauts during 
this time will be to continue the 'Tissue Chips' 
study series.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 26.	 Recently China has launched an unmanned module 
of its permanent space station. In this context, 
consider the following statements:

	 1.	 China plans to complete its space station by 
the end of 2030.

	 2.	 This module, named 'Tianhe' or 'Harmony of 
the Heavens', was launched from China's 
largest rocket 'Long March 5B'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2

	 27.	 Consider the following statements:
	 1.	 The Indian Council of Medical Research has 

fixed the CT value cut-off for patients to 
determine the COVID-19 positive status.

	 2.	 The CT value detected during reverse 
transcription polymerase chain reaction test 
reflects the viral load in the patient.

	 3.	 All patients with a CT value less than 35 are 
considered negative.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 28.	 Consider the following statements in the context of  
5G trial-

	 1.	 The Department of Telecommunications, 
Government of India has allowed Telecom 
Service Providers to conduct trials on the use 
and application of 5G technology.

	 2.	 Applications like tele-medicine, tele-education, 
augmented/virtual reality, drone based 
agriculture monitoring will be tested.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 29.	vk;ju Mkse ,;j fMiQsal flLVe ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1-	 ;g NksVh nwjh dk ”kehu ls gok esa ekj djus okyk 
,;j fMiQsal flLVe gSA

	 2-	 bldk mi;ksx jkWdsV] rksi vkSj eksVkZj ds lkFk&lkFk 
foeku] gsyhdkWIVj rFkk ekuo jfgr gokbZ okguksa 
dk lkeuk djus ds fy;s fd;k tkrk gSA

	 3-	 ;g dsoy jkr ds le; dk;Z djus esa l{ke gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 dsoy 1	 (d)	1] 2 vkSj 3

	 30.	gky gh esa la;qDr jk"Vª us ̂ oSf'od ou y{; fjiksVZ] 2021* 
tkjh dh gSA bl lanHkZ esa dkSu&lk dFku lgh ugha gS\	

	 (a)	 ;g fjiksVZ ^;wukbVsM us'ku LVªSVsftd Iyku iQkWj 
iQkWjsLV] 2030 esa 'kkfey mn~ns';ksa vkSj y{;ksa dh 
izxfr ij lexz voyksdu iznku djrh gSA

	 (b)	 bl fjiksVZ ds vuqlkj dksfoM&19 egkekjh us ouksa 
ds izcaèku esa fofHkUu ns'kksa ds le{k vkus okyh 
pqukSfr;ksa dks de fd;k gSA

	 (c)	 dksfoM&19 ls iz.kkyhxr Hks|rk vkSj vlekurk esa 
c<+ksrjh gqbZ gSA

	 (d)	 o"kZ 2020 esa oSf'od ldy mRiknu eg”k 4.3 
izfr'kr FkkA ;g egkeanh ds ckn ls oSf'od mRiknu 
esa lcls cM+h fxjkoV gSA

	 31.	gky gh esa opqZvy rjhds ls ̂ yhMlZ lfeV vkWu DykbesV* 
dk vk;kstu fd;k x;kA bl lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 ;wjksih; la?k us o"kZ 2030 rd dqy xzhu gkml xSl 
mRltZu dks 55% rd vkSj o"kZ 2050 rd 'kwU; 
djus dk y{; j[kk gSA

	 2-	 Hkkjr us bl n'kd esa foÙk tqVkus] LoPN ÅtkZ 
uokpkj vkSj mldh rSukrh dks xfr nsus ds fy;s 
;w-,l-&Hkkjr tyok;q vkSj LoPN ÅtkZ ,tsaMk] 2030 
Hkkxhnkjh 'kq: djus dh ?kks"k.kk dh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 32.	^tkbyksfiQl nhidh* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g ,d NksVs lk¡i dh iztkfr gS ftldk ukedj.k 
,d Hkkjrh; ljhl`i foKkuosÙkk nhid ohjIiu ds 
uke ij fd;k x;k gSA

	 2-	 bls rfeyukMq dh ,d LFkkfud iztkfr crk;k 
x;k gSA

	 3-	 tkbyksfiQl dh ik¡p iztkfr;k¡ gSa tks nf{k.k Hkkjr 
esa if'peh ?kkV ds fy;s LFkkfud gSaA

	 29.	 Consider the following statements in the context of 
the Iron Dome Air Defence System-

	 1.	 It is a short-range surface-to-air air defence 
system.

	 2.	 It is used to counter aircraft, helicopters and 
unmanned aerial vehicles along with rockets, 
cannons and mortars.

	 3.	 It is capable of functioning only during night 
time.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 only	 (d)	 1, 2 and 3
	 30.	 Recently the United Nations has released the 'Global 

Forest Targets Report, 2021'. Which of the following 
statement is not correct in this context?

	 (a)	 The report provides a comprehensive overview 
of progress on the objectives and goals 
included in the United Nations Strategic Plan 
for Forests, 2030.

	 (b)	 According to this report, the COVID-19 
epidemic has reduced the challenges faced by 
various countries in the management of forests.

	 (c)	 COVID-19 has increased systemic vulnerability 
and inequality.

	 (d)	 Global gross production in the year 2020 was 
just 4.3%. This is the biggest drop in global 
output since the Great Depression.

	 31.	 Recently 'Leaders Summit on Climate' was organized 
in a virtual way. In this context, consider the following 
statements:

	 1.	 The European Union has set a target of 
reducing total greenhouse gas emissions by 
55% by 2030 and zero by 2050.

	 2.	 India announced the launch of the US-India 
Climate and Clean Energy Agenda, 2030 
Partnership to raise finance, accelerate clean 
energy innovation and deployment in this 
decade.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 32.	 Consider the following statements in the context of 

'Xylophis Deepaki':
	 1.	 It is a small snake species named after Deepak 

Veerappan, an Indian herpetologist.
	 2.	 It has been described as an endemic species of 

Tamil Nadu.
	 3.	 There are five species of Xylophis which are 

endemic to Western Ghats in South India.
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	 	mi;qZDr dFkuksa eas ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 33.	^Bk.ks Øhd Ýysfeaxks vHk;kj.;* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 i;kZoj.k] ou vkSj tyok;q ifjorZu ea=kky; us 

^Bk.ks Øhd Ýysfeaxks vHk;kj.; ds vkl&ikl ,d 

i;kZoj.k laosnh {ks=k vfèklwfpr fd;k gSA

	 2-	 ;g vHk;kj.; egkjk"Vª dk nwljk leqnzh vHk;kj.; 

gS vkSj Bk.ks Øhd ds if'peh rV ij fLFkr gSA

	 3-	 bl vHk;kj.; esa eSUxzkso dh 39 iztkfr;k¡ rFkk 

Ýysfeaxks tSls if{k;ksa dh 167 izztkfr;k¡ ikbZ tkrh 

gSaA

	 4-	 bls ckWEcs uspqjy fgLVªh lkslkbVh }kjk ,d ̂ egÙoiw.kZ 

i{kh {ks=k* ds :i esa ekU;rk izkIr gSA

	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 3 vkSj 4

	 (c)	 dsoy 2 vkSj 4	 (d)	mijksDr lHkh

	 34.	^Xykscy ehFksu vlslesaV% csusfiQV~l ,aM dkWLV~l vkWiQ 

fefVxsfVax ehFksu ,fe'ku* uked fjiksVZ ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1-	 bl fjiksVZ dks tyok;q vkSj LoPN ok;q la?k rFkk 

la;qDr jk"Vª i;kZoj.k dk;ZØe }kjk tkjh fd;k 

x;k FkkA

	 2-	 ehFksu ”kehuh Lrj ds vks”kksu dk fuekZ.k djrh gS 

tks ,d [krjukd ok;q iznw"kd gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 35.	pØokr ^rkmrs* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls 

dkSu&ls lgh gSa\

	 1-	 rkmrs ,d m".kdfVcaèkh; pØokr FkkA

	 2-	 ;g caxky dh [kkM+h esa fodflr gqvkA

	 3-	 ^rkmrs* uke E;k¡ekj }kjk fn;k x;k FkkA

	 4-	 pØokr rkmrs ^vR;fèkd xaHkhj pØokrh rwiQku* 

ls de”kksj gksdj ^vfèkd xaHkhj pØokrh rwiQku* 

ds :i esa ifjofrZr gks x;kA	

	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 3 vkSj 4	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	mijksDr lHkh

		  Which of the statements given above are correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 33.	 Consider the following statements in the context  of 
'Thane Creek Flamingo Sanctuary':

	 1.	 The Ministry of Environment, Forest and 
Climate Change has notified an eco-sensitive 
area around the 'Thane Creek Flamingo 
Sanctuary'.

	 2.	 This sanctuary is the second marine sanctuary 
of Maharashtra and is situated on the west bank 
of Thane creek.

	 3.	 39 species of mangroves and 167 species of 
birds like flamingos are found in this sanctuary.

	 4.	 It is recognized as an 'Important Bird Area' by 
the Bombay Natural History Society.

		  Select the correct answer using the code given below- 

	 (a)	 1, 2 and 3 only	 (b)	 3 and 4 only

	 (c)	 2 and 4 only	 (d)	 All of the above

	 34.	 Consider the following statements in the context of 
the report titled “Global Methane Assessment: Benefit 
and Costs of Mitigating Methane Emission”:

	 1.	 This report was released by the Climate and 
Clean Air Association and the United Nations 
Environment Programme.

	 2.	 Methane forms ground-level ozone, which is 
a dangerous air pollutant.

		  Which of the statement(s) given above is/are correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 35.	 Which of the following statements are correct in the 
context of Cyclone 'Tauktae'?

	 1.	 Tauktae was a tropical cyclone. 

	 2.	 It was developed in the Bay of Bengal. 

	 3.	 The name 'Tauktae' was given by Myanmar.

	 4.	 Cyclone Tauktae weakened from 'Very Severe 
Cyclonic Storm' to 'More Severe Cyclonic 
Storm'.

		  Select the correct answer using the code given below:

	 (a)	 1, 3 and 4 only	 (b)	 2 and 3 only

	 (c)	 1 and 2 only	 (d)	 All of the above
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	 36.	gky gh esa vle vkSj iwoksZÙkj Hkkjr ds dbZ fgLlksa esa 6.4 
rhozrk ds 'kfDr'kkyh Hkwdai ds >Vds eglwl fd;s x,A 
bl lanHkZ eas fuEufyf[kr dFkuksa ij fopkj dhft;s%	

	 1-	 us'kuy lsaVj iQkWj flLeksykWth dh fjiksVZ ds vuqlkj] 
^fgeky;h ÚaVy FkzLV ds djhc fLFkr ^dksfiyh 
iQkWYV ”kksu* dks bl Hkwdai dk dkj.k ekuk tk 
jgk gSA	

	 2-	 fgeky;h ÚaVy FkzLV ;k eq[; ÚaVy FkzLV Hkkjrh; 
vkSj ;wjsf'k;u foorZfud IysVksa dh lhek ds lkFk 
ekStwn ,d Hkza'k (iQkWYV) gSA

	 3-	 us'kuy lsaVj iQkWj flLeksykWth ns'k esa Hkwdaih; 
xfrfofèk;ksa dh fuxjkuh gsrq Hkkjr ljdkj dh uksMy 
,tsalh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 37.	Hkkjr esa vfXu'keu lqj{kk ls tqM+s fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 Hkkjrh; Hkou fuekZ.k lafgrk] 2016 ds Hkkx pkj 
esa vfXu ,oa thou lqj{kk ls lacafèkr izkoèkku gSaA

	 2-	 jk"Vªh; vkink izcaèku izkfèkdj.k }kjk vLirkyksa ds 
lkFk&lkFk lHkh vkx ls lqj{kk gsrq ”k:jh ekinaMksa 
,oa fn'kk&funsZ'kksa dks fuèkkZfjr fd;k x;k gSA

	 3-	 dsanz ljdkj }kjk ^ekWMy fcy vkWu esaVsusal vkWiQ 
iQk;j ,aM bejtsalh lfoZl] 2019* tkjh fd;k 
x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 38.	i`Foh ds v{k ij tyok;q ifjorZu ds izHkko ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ^vesfjdu ft;ksfiQftdy ;wfu;u* ds ft;ksfiQftdy 
fjlpZ ysVlZ* esa izdkf'kr ,d vè;;u ds vuqlkj] 
1990 ds n'kd ls oSf'od rkieku esa o`f¼ ds 
dkj.k Xysf'k;jksa ds fi?kyus ds dkj.k i`Foh ds 
v{k dh vofLFkfr esa vlkekU; cnyko ns[kus dks 
feyk gSA

	 2-	 i`Foh dk v{kh; >qdko yxHkx 23.5 fMxzh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 39.	^LVsV vkWiQ ofd±x bafM;k] 2021* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1-	 ;g fjiksVZ uhfr vk;ksx }kjk tkjh dh xbZ gSA

	 2-	 ;g ̂ LVsV vkWiQ ofd±x bafM;k 2021% ou bZ;j vkWiQ 
dksfoM&19* 'kh"kZd ls izdkf'kr gqbZ gSA

	 36.	 Recently, strong earthquake tremors of 6.4 magnitude 
were felt in many parts of Assam and Northeast India. 
In this context, consider the following statements:

	 1.	 According to the report of the National Centre 
for Seismology, the 'Kopili fault zone' located 
close to the 'Himalayan frontal thrust' is 
believed to be the cause of this earthquake.

	 2.	 The 'Himalayan frontal thrust' or 'Main frontal 
thrust' is a fault present along the boundary of 
the Indian and Eurasian tectonic plates.

	 3.	 The National Centre for Seismology is the 
nodal agency of the Government of India for 
monitoring the seismic activities in the 
country.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 37.	 With reference to the fire safety in India Consider the 

following statements:
	 1.	 Part IV of the Indian Building Code, 2016 

contains provisions relating to fire and life 
safety.

	 2.	 Necessary parameters and guidelines for all 
fire safety along with hospitals have been 
prescribed by the National  Disaster 
Management Authority.

	 3.	 The 'Model Bill on Maintenance of Fire and 
Emergency Service, 2019' has been issued by 
the Central Government.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 All of the above
	 38.	 Consider the following statements in the context of 

the effect of climate change on the Earth's axis-
	 1.	 According to a study published in 'Geophysical 

Research Letters' of the 'American Geophysical 
Union', an unusual change in the position of 
the Earth's axis has been observed because of 
melting of glaciers due to increase in global 
temperature since the 1990s.

	 2.	 Earth's axial tilt is about 23.5 degrees.
		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 39.	 Consider the following statements in the context of 

'State of Working India, 2021'-
	 1.	 This report has been released by NITI Aayog.
	 2.	 It is published with the title 'State of Working 

India 2021: One Year of COVID-19'.
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	 3-	 bl fjiksVZ esa ekpZ 2020 ls fnlacj 2020 rd dh 
vof/ dks 'kkfey fd;k x;k gS] ftlesa jks”kxkj] 
vk;] vlekurk rFkk xjhch ij dksfoM&19 ds  
izHkkoksa dk mYys[k 'kkfey gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 dsoy 1 vkSj 3	 (d)	dsoy 2 vkSj 3

	 40.	fuEufyf[kr dFkukas ij fopkj dhft;s%
	 1-	 gky gh esa ;wfulsiQ vkSj ^xhuk Msfol baLVhV~;wV 

vkWu tsaMj bu ehfM;k* us ^tsaMj ck;l ,aM 
buDyw”ku bu ,MojVkbf”kax bu bafM;k* 'kh"kZd ls 
,d fjiksVZ tkjh dh gSA

	 2-	 bl vè;;u esa o"kZ 2019 ds nkSjku iwjs Hkkjr esa 
izlkfjr vkSj lokZfèkd igq¡p okys 1]000 ls vfèkd 
Vsyhfo”ku rFkk ;wV~;wc foKkiuksa dk fo'ys"k.k 
fd;k gSA

	 3-	 fjiksVZ ds vuqlkj Hkkjr esa foKkiu oSf'od csapekdZ 
ls csgrj gksrs gSa D;ksafd yM+fd;ksa vkSj efgykvksa 
dks LØhu lk>k djus vkSj cksyus ds le; ds 
ekeyksa esa izfrfufèkRo dh lekurk gS ijarq mudk 
fp=k.k fyaxHksn dh leL;k ls xzLr gSA

	 	mi;qZDr dFkukas esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 41.	ykWdMkmu vkSj cky fookg ds lanHkZ esa fuEukfyf[kr dFkukasa 
ij fopkj dhft;s&

	 1-	 la;qDr jk"Vª cky dks"k (;wfulsiQ) dk vuqeku gS 
fd Hkkjr esa izfro"kZ 18 o"kZ ls de mez dh 
de&ls&de 1-5 fefy;u yM+fd;ksa dk fookg 
fd;k tkrk gSA

	 2-	 ^n ySalsV* ds gkfy;k vè;;u ls irk pyrk gS fd 
dksfoM&19 egkekjh ds dkj.k vkxkeh ik¡p o"kks± 
esa nqfu;k Hkj esa 2.5 fefy;u ls vfèkd yM+fd;ksa 
(18 o"kZ ls de) ij fookg dk [krjk gSA

	 	mi;qZDr dFkukas eas ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 42.	iksLV&dksfoM f'k{kk gsrq u, n`f"Vdks.k ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ^bZ&f'k{kk* mPp vkSj eè;e oxZ ds Nk=kksa gsrq ,d 
fo'ks"kkfèkdkj ds :i esa mHkjh gSA ;g fuEu&eè;e 
oxZ ds Nk=kksa vkSj xjhch js[kk ls uhps jgus okys 
yksxksa ds fy;s ,d ckèkk fl¼ gqbZ gSA

	 2-	 laLFkkuksa esa ekStwnk ikB~;Øe ds <k¡ps ds Hkhrj 
vkWiQykbu f'k{k.k dh vuqifLFkfr dks nwj djus ds 
fy;s izR;sd fo"k; gsrq ubZ lkexzh fuekZ.k ij fopkj 
djuk pkfg;sA

	 3.	 This report covers the period from March 2020 
to December 2020, which includes the effects 
of COVID-19 on employment, income, 
inequality and poverty.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 1 and 3 only	 (d)	 2 and 3 only

	 40.	 Consider the following statements:
	 1.	 Recently UNICEF and 'Gina Davis Institute 

on Gender in Media' have released a report 
titled 'Gender Bias and Inclusion in Advertising 
in India'.

	 2.	 The study analysed over 1,000 television and 
YouTube commercials that aired and had the 
highest reach across India during 2019.

	 3.	 According to the report, advertisements in 
India outperform global benchmarks as girls 
and women have equality of representation in 
terms of screen sharing and speaking time, but 
their portrayal suffers from gender discrimination.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 41.	 Consider the following statements in the context of 
lockdown and child marriage-

	 1.	 The United Nations Children's Fund (UNICEF) 
estimates that at least 1.5 million girls under 
the age of 18 are married in India every year.

	 2.	 A recent study by 'The Lancet' shows that over 
2.5 million girls (under the age of 18) across 
the world are at risk of marriage in the next 
five years due to the COVID-19 pandemic.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 42.	 Consider the following statements in the context of 
the new approach to post-COVID education-

	 1.	 'E-education' has emerged as a privilege for 
the upper and middle class students. This has 
proved to be a hindrance for the lower-middle 
class students and people living below the 
poverty line.

	 2.	 To address the absence of offline learning 
within the existing curriculum structure in the 
institutions, new content creation for each 
subject should be considered.



14lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 3-	 ubZ ewY;kadu iz.kkyh ds rgr ewY;kadu] fo'ys"k.k 
dh {kerk ij vkèkkfjr gksuk pkfg;sA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 43.	Hkkjrh; lafoèkku Je vfèkdkjksa dh lqj{kk ds fy;s dbZ 
lqj{kk mik; iznku djrk gSA Je vf/dkjksa ls lacaf/r 
vuqPNsn gSa%

	 1.	 vuqPNsn&14	 2.	vuqPNsn&19(1)

	 3.	 vuqPNsn&21	 4.	vuqPNsn&15

	 dwV%

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 44.	dqaHk esys ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bl esys dk vk;kstu 10 o"kZ esa ,d ckj fd;k 
tkrk gSA

	 2.	 ;g mÙkjk[kaM ds gfj}kj esa ekpZ 2021 esa vk;ksftr 
gqvkA

	 3.	 dqaHk esyk ;wusLdks dh ̂ ekuork dh vewrZ lkaLÑfrd 
fojklr izfrfufèk lwph* ds varxZr vkrk gSA

	 4-	 iz;kxjkt] gfj}kj] mTtSu vkSj ukfld 'kgjksa esa ;g 
vk;ksftr fd;k tkrk gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1, 3 vkSj 4	 (d)	1] 2] 3 vkSj 4

	 45.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 johanzukFk VSxksj dks mudh dkO; jpuk ^xhrkatfy* 
ds fy;s o"kZ 1913 esa lkfgR; ds {ks=k esa ukscsy 
iqjLdkj fn;k x;kA

	 2-	 johanzukFk VSxksj us Hkkjr (tu x.k eu) vkSj ckaXykns'k 
(vkekj lksukj ckaXyk) dk jk"Vªxku fy[kk gSA

	 3-	 johanzukFk VSxksj us egkRek xkaèkh dks ^egkRek* dh 
mikfèk nh FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 46.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 gky gh esa iatkc ljdkj us jkT; ds 23osa f”kys 
ds :i esa eysjdksVyk ds xBu dh ?kks"k.kk dh gSA

	 2-	 eysjdksVyk ,d iwoZ fj;klr gS vkSj iatkc dk 
,dek=k eqfLye cgqy 'kgj gSA

	 3-	 u, f”kys dk fuekZ.k ;k ekStwnk f”kyksa dh fLFkfr 
cnyus ;k mUgsa lekIr djus dh 'kfDr dsanz ljdkj 
esa fufgr gSA	

	 3.	 The evaluation under the new evaluation 
system should be based on analytical ability.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 43. 	The Constitution of India provides many safeguards 

to protect labour rights. Articles related to labour 
rights are:

	 1.	 Article-14 	 2.	 Article-19(1) 
	 3.	 Article-21 	 4.	 Article-15
		  Code:
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1 and 3 only	 (d)	 All of the above
	 44.	  With reference to the Kumbh Mela Consider the 

following statements:
	 1.	 This fair is organized once in every 10 years.
	 2.	 It was held in March 2021 in Haridwar, 

Uttarakhand.
	 3.	 Kumbh Mela comes under UNESCO's 

'Representative List of Intangible Cultural 
Heritage of Humanity'.

	 4.	 It is organized in the cities of Prayagraj, 
Haridwar, Ujjain and Nashik.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 1, 2, 3 and 4
	 45.	 Consider the following statements:
	 1.	 Rabindranath Tagore was awarded the Nobel 

Prize in Literature in the year 1913 for his 
poetic composition 'Gitanjali'.

	 2.	 Rabindranath Tagore has written the national 
anthems of India (Jana Gana Mana) and 
Bangladesh (Amar Sonar Bangla).

	 3.	 Rabindranath Tagore gave the title of 
'Mahatma' to Mahatma Gandhi.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 46.	 Consider the following statements:
	 1.	 Recently the Punjab government has announced 

the formation of Malerkotla as the 23rd district 
of the state.

	 2.	 Malerkotla is a former princely state and the 
only Muslim majority city in Punjab.

	 3.	 The power to create new districts or to change 
the status of existing districts or to abolish 
them is vested in the Central Government.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 2 vkSj 3

	 47.	LVkWdgkse baVjus'kuy ihl fjlpZ baLVhV~;wV }kjk izdkf'kr 

uohure fjiksVZ ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 fjiksVZ ds vuqlkj] o"kZ 2020 esa oSf'od Lrj ij 

lSU; [kpZ esa 2.6 izfr'kr dh o`f¼ ntZ dh xbZ gSA

	 2-	 Hkkjr o"kZ 2020 esa lSU; O;; ds ekeys esa vesfjdk 

ds ckn nwljs LFkku ij jgkA

	 3-	 Hkkjr ds okf"kZd lSU; O;; esa 33 yk[k lsokfuo`Ùk 

j{kkdfeZ;ksa ds fy;s ,d fo'kky isa'ku iQaM Hkh 

'kkfey gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2

	 (c)	 dsoy 3	 (d)	dsoy 1 vkSj 3

	 48.	^la;qDr jk"Vª 'kj.kkFkhZ mPpk;ksx* ds lanHkZ esa fuEufyf[kr 

dFkuksa esa ls dkSu&lk lgh ugha gS\

	 (a)	 la;qDr jk"Vª 'kj.kkFkhZ mPPkk;ksx] fdlh vius ns'k 

esa izrkM+uk >sy jgs O;fDr dks fdlh vU; ns'k esa 

'kj.k ek¡xus dk vf/dkj iznku djrk gSA

	 (b)	 ;g la;qDr jk"Vª dh ,tsalh gS ftldh LFkkiuk 1950 

esa gqbZ FkhA

	 (c)	 Hkkjr }kjk la;qDr jk"Vª 'kj.kkFkhZ vfHkle;ksa dks ykxw 

fd;k gSA

	 (d)	 ef.kiqj mPp U;k;ky; us jkT; ds ,d lhekorhZ 

'kgj esa iQ¡ls E;k¡ekj ds lkr ukxfjdksa dks fnYyh 

fLFkr la;qDr jk"Vª 'kj.kkFkhZ mPpk;ksx tkdj lgk;rk 

dh vihy djus dh vuqefr nh gSA

	 49.	^la;qDr ykWftfLVDl uksM* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1-	 ;s la;qDr ykWftfLVd uksM NksVs gfFk;kjk s a ] 

xksyk&ck:n] jk'ku] b±èku] tujy LVksj] flfoy 

VªkaliksVZ] iqtks± vkSj bathfu;fjax dk;ks± esa lg;ksx ds 

fy;s rhuksa lsukvksa dks ,dhÑr ykWftfLVd doj 

iznku djsaxsA

	 2-	 gky gh esa eqacbZ esa rhljs la;qDr ykWftfLVd uksM 

dh 'kq#vkr dh xbZ gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 2 and 3 only

	 47. 	Consider the following statements in the context of 
latest report published by Stockholm International 
Peace Research institute:

	 1.	 According to the report, in 2020,  2.6% percent 
increase recorded in military expenditure 
globally.

	 2.	 In 2020, India is ranked second after America 
in terms of  military expenditure.

	 3.	 India's annual military expenditure also 
includes a huge pension 	fund for 33 lakh 
retired defense personnel.

		  Which of the statements gives above is/are correct?
	 (a) 	 1 and 2 only		  (b) 2 only

	 (c) 	 3 only		  (d) 1 and 3 only

	 48.	 With reference to "United Nations High Commission  
Refugees" which one of the following statements is 
not correct?

	 (a)	 The "United Nations High Commission  
Refugees" provides the right to seek asylum 
in another country to a person facing 
persecution in one's own country.

	 (b)	 It is a United Nations agenda that was 
established in 1950.

	 (C)	 India has implemented the United Nations 
Refugee Conventions.

	 (d)	 The Manipur High Court has allowed seven 
Myanmarese citizens stranded in a border area 
in the state to approach the United Nations 
Refugees High Commission in Delhi and 
appeal for assistance.

	 49.	 With reference to 'Joint Logistics Node' Consider the 
following statements:

	 1.	 These joint logistic nodes will provide 
integrated logistic cover to the three services 
for supporting small arms, ammunition, 
rations, fuel, general stores, civil transport, 
spares and engineering works.

	 2.	 Recently the 3rd Joint Logistics Node has been 
started in Mumbai.

		  Which of the statement(s) given above is/are 
correct?	

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 50.	^P-81 x'rh foeku* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g ,d yach nwjh dk leqnzh x'rh ,oa iuMqCch&jksèkh 
;q¼d foeku gSA

	 2-	 :lh ljdkj us Hkkjr dks pkj P-81 x'rh foeku 
vkSj blls lacafèkr midj.kksa dh fcØh ij viuh 
ea”kwjh nh gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 51.	^FOSS4GOV buksos'ku* pSysat ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 bysDVªkWfuDl vkSj lwpuk izkS|ksfxdh ea=kky; us ljdkj 
esa Úh ,aM vksiu lkslZ lkWÝVos;j dks izpkfyr djus 
esa rs”kh ykus ds fy;s bl pSysat dh ?kks"k.kk dh gSA

	 2-	 blesa lkWÝVos;j dk lkslZ dksMZ lHkh ds fy;s [kqyk 
gS vkSj dksbZ Hkh dksM dk mi;ksx vè;;u vkSj 
la'kksèku djus ds fy;s Lora=k gSA

	 3-	 ;g vU; yksxksa dks Hkh lkWÝVos;j (,d leqnk; dh 
rjg) ds fodkl vkSj lqèkkj esa ;ksxnku dh vuqefr 
nsrk gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 52.	dqN oSKkfudksa us ljdkj }kjk lefFkZr ,d ekWMy dks 
dksfoM dh nwljh ygj ds fy;s f”kEesnkj Bgjk;k gS] ftls 
SUTRA ekWMy dgrs gSaA bl lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 SUTRA dk iqQyiQkWeZ% Susceptible, Undetected, 
Tested (Positive) and Removed Approach gSA

	 2-	 vkbZ-vkbZ-Vh- eqacbZ ds oSKkfudksa us Hkkjr esa dksfoM 
xzkiQ dk iwokZuqeku yxkus ds fy;s SUTRA ekWMy 
ykxw fd;kA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 53.	^jk"Vªh; iapk;rh jkt fnol* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 Hkkjr esa 24 vizSy] 2021 dks 12ok¡ jk"Vªh; iapk;rh 
jkt fnol euk;k x;kA

	 2-	 Hkkjrh; lafoèkku ds vuqPNsn&40 esa iapk;rksa dk 
mYys[k gSA

	 3-	 LFkkuh; Lrj ij yksdra=k dh LFkkiuk ds fy;s 73ok¡ 
lafoèkku la'kksèku] 1992 ds ekè;e ls iapk;rh jkt 
laLFkk dks laoSèkkfud fLFkfr iznku dh xbZA

	 50.	 Consider the following statements in the context of 
'P-81 Patrol Aircraft':

	 1.	 It is a long-range maritime patrol and anti-
submarine warfare aircraft.

	 2.	 The Russian government has given its approval 
for the sale of four P-81 patrol aircraft and 
related equipment to India.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 51.	 Consider the following statements in the context of 

'FOSS4GOV Innovation Challenge':
	 1.	 The Ministry of Electronics and Information 

Technology has announced this challenge to 
accelerate the deployment of free and open 
source software in the government.

	 2.	 In this the source code of the software is open 
to all and anyone is free to use the code, study 
and modify it.

	 3.	 It also allows other people to contribute to the 
development and improvement of the software 
(like a community).

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 52.	 Some scientists have attributed the second wave of 

COVID to a model supported by the government, 
called the SUTRA model. In this context, consider 
the following statements:

	 1.	 The full form of SUTRA is Susceptible, 
Undetected, Tested (Positive) and Removed 
Approach.

	 2.	 Scientists from IIT Mumbai implemented the 
SUTRA model to predict the COVID graph in 
India.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 53.	 Consider the following statements in the context of 

'National Panchayati Raj Day':
	 1.	 12th National Panchayati Raj Day was 

celebrated in India on 24th April, 2021.
	 2.	 Panchayats are mentioned in Article 40 of the 

Indian Constitution.
	 3.	 For the establishment of democracy at the local 

level, constitutional status was given to the 
Panchayati Raj Institution through the 73rd 
Constitutional Amendment, 1992.
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	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 54.	Xykscy bZoh vkmVyqd&2021 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 varjkZ"Vªh; ÅtkZ ,tsalh us viuk okf"kZd ^Xykscy 

bZoh vkmVyqd&2021* tkjh fd;k gSA

	 2-	 Xykscy bZoh vkmVyqd fo'o Hkj esa fo|qr dh 

xfr'khyrk esa gkfy;k fodklksa dh igpku vkSj mu 

ij ppkZ djrk gSA

	 3-	 egkekjh ds ckn o"kZ 2020 esa bysfDVªd dkj 

iathdj.k esa 41 izfr'kr dh deh gqbZA

	 4-	 Hkkjr esa o"kZ 2020 rd u, okguksa dh fcØh esa 

30 izfr'kr ls vfèkd bysfDVªd okgu gksaxsA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1, 2 vkSj 4

	 (c)	 dsoy 2, 3 vkSj 4	 (d)	mijksDr lHkh

	 55.	lkWojsu xksYM ckW.M ;kstuk] 2021-22 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr ljdkj us Hkkjrh; fj”koZ cSad ds ijke'kZ ls 

ebZ 2021 ls flracj 2021 rd N% fd'rksa esa 

lkWojsu xksYM ckW.M tkjh djus dk fu.kZ; fy;k gSA

	 2-	 xksYM ckW.M 10 xzke ds xq.kdksa esa [kjhns tk ldrs 

gSa ftlesa fofHkUu fuos'kdksa ds fy;s ,d fuf'pr 

lhek fuèkkZfjr gksrh gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 56.	^Lokeh (SWAMIH) iQaM* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s&

	 1-	 Hkkjr ljdkj us lLrs vkSj eè;e vk; okys vkoklksa 

ds fy;s fo'ks"k foaMks Lokeh ds ekè;e ls viuh 

igyh vkoklh; ifj;kstuk iw.kZ dhA

	 2-	 miuxj eqacbZ esa fLFkr vkoklh; ifj;kstuk] fjokyh 

ikdZ] Hkkjr dh igyh ,slh vkoklh; ifj;kstuk Fkh 

ftls Lokeh iQaM ds rgr èku izkIr gqvk FkkA

	 3-	 ;g ljdkj lefFkZr iQaM gS ftls lsch ds lkFk 

iathÑr Js.kh&II (oSdfYid fuos'k dks"k) Í.k 

iQaM ds :i esa LFkkfir fd;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 54.	 Consider the following statements in the context of 
Global EV Outlook-2021:

	 1.	 The International Energy Agency has released 
its annual 'Global EV Outlook-2021'.

	 2.	 The Global EV Outlook identifies and 
discusses recent developments in electric 
mobility around the world.

	 3.	 Electric car registrations declined by 41 percent 
in the year 2020 despite the pandemic.

	 4.	 Electric vehicles will account for more than 
30 percent of new vehicle sales in India by the 
year 2020.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1, 2 and 4 only

	 (c)	 2, 3 and 4 only	 (d)	 All of the above

	 55.	 Consider the following statements in the context of 
'Sovereign Gold Bond Scheme, 2021-22':

	 1.	 The Government of India, in consultation with 
the Reserve Bank of India, has decided to issue 
Sovereign Gold Bonds in six installments from 
May 2021 to September 2021.

	 2.	 Gold bonds can be bought in multiples of 10 
grams with a fixed limit for different investors.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 56.	 Consider the following statements in the context of 
'SWAMIH Fund'-

	 1.	 The Government of India completed its first 
housing project through a special window 
'SWAMIH' for affordable and middle-income 
housing.

	 2.	 Rivali Park, a residential project located in 
suburban Mumbai, was the first residential 
project in India to be funded under the 
'SWAMIH Fund'.

	 3.	 It is a government-backed fund that was set up 
as a SEBI registered Category-II (Alternative 
Investment Fund) debt fund.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	 57.	^lw{e foÙk* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 Hkkjr esa nks yk[k #i, ls de ds lHkh Í.kksa dks 
ekbØksyksu ;k lw{e Í.k ekuk tk ldrk gSA

	 2-	 bldh lsokvksa esa lw{e Í.k] lw{e cpr vkSj lw{e 
chek 'kkfey gSaA

	 3-	 lw{e foÙk daifu;k¡ mu yksxksa dks NksVs Í.k iznku 
djrh gSa tks lekt ds oafpr vkSj de”kksj oxks± ls 
gSa rFkk ftuds ikl cSafdax lqfoèkkvksa rd igq¡p 
miyCèk ugha gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 58.	ifjlaifÙk iqufuZekZ.k daifu;ksa ij vkj-ch-vkbZ- dh fjiksVZ 
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 fjiksVZ ds vuqlkj ifjlaifÙk iqufuZekZ.k m|ksx dh 
o`f¼ le; ds lkFk yxkrkj ugha gqbZ gSA

	 2-	 vkj-ch-vkbZ- us lqn'kZu lsu dh vè;{krk esa ,d 
lfefr dk xBu fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 59.	jk"Vªh; mUur jlk;u cSVjh HkaMkj.k dk;ZØe ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 dsanzh; eaf=keaMy us mUur jlk;u cSVjh ds vk;kr 
dks de djus ds fy;s blds fuekZrkvksa gsrq ̀ 18,100  
djksM+ dh mRiknu fyaDM izksRlkgu ;kstuk dks ea”kwjh 
nh gSA

	 2-	 ;g ;kstuk Hkkjh m|ksx vkSj lkoZtfud m|e ds 
vèkhu gSA

	 3-	 mUur jlk;u cSVjh ubZ ih<+h dh izkS|ksfxdh gS tks 
fo|qr ÅtkZ dks fo|qr vFkok jklk;fud ÅtkZ ds 
:i esa lax`ghr dj ldrh gS vkSj vko';drk iM+us 
ij bls iqu% fo|qr ÅtkZ es a ifjofrZr dj 
ldrh gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 60.	^tSfod cktjs* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s&

	 1-	 ns'k esa tSfod mRiknksa ds fu;kZr dks c<+kok nsus ds 
fy;s fgeky; esa mxk, x, tSfod cktjs dh igyh 
[ksi MsuekdZ dks fu;kZr dh tk,xhA

	 2-	 orZeku esa mu tSfod mRiknksa dk fu;kZr fd;k tkrk 
gS ftudk ^tSfod mRiknu gsrq jk"Vªh; dk;ZØe* 
dh vko';drkvksa ds vuqlkj mRiknu] izlaLdj.k] 
iSafdax vkSj yscfyax dh xbZ gksA

	 57.	 Consider the following statements in the context of 
'Micro Finance':

	 1.	 All loans in India below Rs 2 lakh can be 
considered as micro loans.

	 2.	 Its services include micro loans, micro savings 
and micro insurance.

	 3.	 Micro finance companies provide small loans 
to people who belong to the deprived and 
weaker sections of the society and who do not 
have access to banking facilities.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 All of the above
	 58.	 Consider the following statements in the context of 

the report of RBI on Asset Reconstruction Companies:
	 1.	 As per the report the growth of the asset 

reconstruction industry has not been consistent 
over time.

	 2.	 RBI has constituted a committee under the 
chairmanship of Sudarshan Sen.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 59.	 Consider the following statements in the context of 

the National Programme on Advanced Chemistry 
Cell Battery Storage:

	 1.	 The Union Cabinet has approved a production 
linked incentive scheme of Rs 1,81,000 crore 
for its manufacturers to reduce the import of 
advanced chemical batteries.

	 2.	 This scheme is under the Heavy Industries & 
Public Enterprises.

	 3.	 Advanced chemical battery is a new generation 
technology that can store electrical energy in 
the form of electrical or chemical energy and 
convert it again into electrical energy when 
required.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 60.	 Consider the following statements in the context of 

'Organic Millet':
	 1.	 To promote the export of organic products in 

the country, the first consignment of organic 
millet grown in the Himalayas will be exported 
to Denmark.

	 2.	 Presently those organic products are exported 
which have been produced, processed, 
packaged and labelled as per the requirements 
of the 'National Program for Organic 
Production'.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2
	 61.	^fofu;eu leh{kk izkfèkdj.k 2.0* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1-	 Hkkjrh; fj”koZ cSad }kjk fu;eksa dks lqO;ofLFkr 

djus vkSj fofu;fer laLFkkvksa ds vuqikyu cks> 
dks de djus ds mn~ns'; ls 1 ebZ] 2021 ls ,d 
o"kZ dh vofèk ds fy;s bl izkfèkdj.k dk xBu 
fd;k x;k FkkA

	 2-	 fofu;fer laLFkkvksa esa dsoy okf.kfT;d cSad 
'kkfey gSaA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2
	 62.	gky gh esa lÅnh vjc ^usV ”khjks izksM~;wllZ iQksje* esa 

ftu ns'kksa ds lkFk 'kkfey gqvk gS] os gSa%
	 1-	 la;qDr jkT; vesfjdk

	 2-	 dukMk

	 3-	 ukWosZ

	 4-	 Hkkjr

	 5-	 drj	

	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1, 2, 3 vkSj 4	 (b)	dsoy 1, 2, 3 vkSj 5
	 (c)	 dsoy 2, 3 vkSj 4	 (d)	mijksDr lHkh
	 63.	iuMqCch ̂ ds-vkj-vkbZ- ukaxyk&402* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s&
	 1-	 ;g baMksusf'k;kbZ ukSlsuk dh ,d iuMqCch gS tks 

vizSy 2021 eass ,d rkjihMks fMªy ds nkSjku ̂ ckyh* 
ds fudV ykirk gks xbZ FkhA

	 2-	 bl iuMqCch ds [kkst vfHk;ku esa lg;ksx ds fy;s 
Hkkjrh; ukSlsuk ds ^}hi lcets±l jsLD;w oslsy* dks 
Hkh Hkstk x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2
	 64.	gky gh esa lhek lM+d laxBu dh lcls iqjkuh ifj;kstukvksa 

esa ls ,d ^nard ifj;kstuk* us HkwVku esa viuh Mk;eaM 
tqcyh* iw.kZ dh gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1-	 bl ifj;kstuk ds rgr vxz.kh eksVjokgu ;ksX; 
lM+dksa ds fuekZ.k dk y{; fuèkkZfjr fd;k x;k FkkA

	 2-	 ;g HkwVku ds rhljs jktk vkSj Hkkjr ds rRdkyhu 
izèkkuea=kh tokgyky usg: ds nwjn'khZ usr`Ro dk 
ifj.kke FkkA

	 3-	 nard ifj;kstuk }kjk lqnwjorhZ {ks=kksa esa igyh ckj 
fpfdRlk vkSj f'k{kk lqfoèkk,¡ LFkkfir dh xb±A

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 61.	 Consider the following statements in the context of 

'Regulation Review Authority 2.0':
	 1.	 This authority was constituted by the Reserve 

Bank of India for a period of one year with 
effect from May 1, 2021, with the objective of 
streamlining the rules and reducing the 
compliance burden of regulated entities.

	 2.	 Regulated entities include only commercial 
banks.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 62.	 The countries with which Saudi Arabia has recently 

joined the 'Net Zero Producers Forum' are:
	 1.	 United States of America 
	 2.	 Canada 
	 3.	 Norway 
	 4.	 India 
	 5.	 Qatar
		  Select the correct answer using the code given below :
	 (a)	 1, 2, 3 and 4 only	 (b)	 1, 2, 3 and 5 only
	 (c)	 2, 3 and 4 only	 (d)	 All of the above
	 63.	 Consider the following statements in the context of  

submarine 'KRI Nangla-402'-
	 1.	 It is an Indonesian Navy submarine that went 

missing near 'Bali' during a torpedo drill in 
April 2021.

	 2.	 The 'Deep Submergence Rescue Vessel' of the 
Indian Navy was also sent to support the search 
operation of this submarine.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 64.	  Recently one of the oldest projects of Border Roads 

Organization 'Dantak Project' completed its Diamond 
Jubilee in Bhutan. In this context, consider the 
following statements-

	 1.	 Under this project, the target was set to build 
leading motorable roads.

	 2.	 This was the result of the visionary leadership 
of the third King of Bhutan and the then Prime 
Minister of India, Jawaharlal Nehru.

	 3.	 Medical and education facilities were 
established for the first time in remote areas 
through Dantak project.
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	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 65.	gky gh esa Hkkjr us fczDl [kxksy foKku dk;Z&lewg dh 
lkroha cSBd dh es”kckuh opqZvy eksM esa dhA bl lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bl cSBd esa Hkfo"; ds baVsyhtsal VsyhLdksi usVodZ 
vkSj MsVk usVodZ fuekZ.k] czãkaM esa gksus okyh {kf.kd 
[kxksyh; ?kVukvksa dk vè;;u] fcx MsVk] Ñf=ke 
cqf¼eÙkk vkfn ds {ks=k esa vuqlaèkku c<+kus ij 
ppkZ gqbZA

	 2-	 tuojh 2021 esa Hkkjr us fczDl dh vè;{krk xzg.k 
dh FkhA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 66.	fuEufyf[kr dFkuksa ij fopkj djrs gq, crkb;s fd dkSu&lk 
dFku lgh ugha gS\	

	 (a)	 viQxkfuLrku ds daèkkj izkar esa nkgyk ckaèk vofLFkr 
gS ftls Hkkjr ds lg;ksx ls cuk;k x;k FkkA

	 (b)	 viQx+ku&Hkkjr eS=kh ckaèk dks lyek ckaèk Hkh dgk 
tkrk gSA

	 (c)	 dkcqy unh ij 'kgrwr ckaèk ds fuekZ.k gsrq Hkkjr 
rFkk viQxkfuLrku ds chp ,d le>kSrk fd;k x;k 
gSA

	 (d)	 gky gh esa rkfycku us viQxkfuLrku ds nkgyk 
ckaèk ij dC”kk dj fy;k gSA

	 67.	varjkZ"Vªh; vkijkfèkd iqfyl laxBu (baVjiksy) us 	
^vkbZ Mh&vkVZ* uked ,d eksckby iQksu ,Iyhds'ku ykWUp 
fd;k gSA fuEufyf[kr esa ls dkSu blds dk;ks± esa 'kkfey 
gS@gSa\

	 1-	 pksjh gqbZ lkaLÑfrd laifÙk dh igpku djus

	 2-	 rLdjh dks de djus

	 3-	 pqjkbZ gqbZ dykÑfr;ksa dh iquizkZfIr esa

	 4-	 fojklr LFkyksa dh fLFkfr dk izys[ku

	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 2 vkSj 4	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1, 3 vkSj 4	 (d)	mijksDr lHkh

	 68.	fOgVyh vokM~lZ&2021 ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1-	 ukxkySaM ds i;kZoj.kfon~ ̂ okbZ uqDyw iQkse* dk p;u 
blds fy;s fd;k x;k gSA

	 2-	 ;g iqjLdkj fczVsu fLFkr ^fOgVyh iQaM iQkWj uspj* 
uked èkekZFkZ laLFkku }kjk iznku fd;k tkrk gSA

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 65.	 Recently, India hosted the seventh meeting of the 
'BRICS Astronomy Working Group' in virtual mode. 
In this context, consider the following statements:

	 1.	 In this meeting, discussions were held on 
building future intelligence telescope networks 
and data networks, study of transient celestial 
events in the universe, increasing research in 
the field of big data, artificial intelligence etc.

	 2.	 India assumed the Chairmanship of BRICS in 
January 2021.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 66.	 Considering the following statements, state which 
statement is not correct?

	 (a)	 The Dahala Dam is located in the Kandahar 
province of Afghanistan, which was built with 
the help of India.

	 (b)	 The Afghan-India Friendship Dam is also 
known as the Salma Dam.

	 (c)	 An agreement has been signed between India 
and Afghanistan for the construction of the 
Shahtoot Dam on the Kabul River.

	 (d)	 Recently the Taliban have captured the Dahala 
Dam in Afghanistan.

	 67.	 International Criminal Police Organization (Interpol) 
has launched a mobile phone application named 'ID-
Art'. Which of the following is/are included in its 
functions?

	 1.	 To identify stolen cultural property. 

	 2.	 To reduce smuggling. 

	 3.	 In recovery of stolen artifacts.

	 4.	 Documentation of the status of heritage sites.

		  Select the correct answer using the code given below - 
	 (a)	 1, 2 and 4 only	 (b)	 2 and 3 only

	 (c)	 1, 3 and 4 only	 (d)	 All of the above

	 68.	 Consider the following statements in the context of 
'Whitley Awards-2021'-

	 1.	 Nagaland's environmentalist 'Y Nuklu Phom' 
has been selected for this.

	 2.	 This award is given by the UK-based charitable 
organization named 'Whitley Fund for Nature'.
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	 3-	 fOgVyh vokM~lZ dk mn~ns'; ”kehuh Lrj ij dk;Zjr 
oU;tho laj{k.kokfn;ksa dk leFkZu djuk gSA

	 4-	 bl iqjLdkj dks ̂ xzhu vkWLdj* ds uke ls Hkh tkuk 
tkrk gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2 vkSj 4

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2] 3 vkSj 4

	 69.	^LVkjf'ki* varfj{k;ku ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1-	 ;g vesfjdh futh varfj{k ,tsalh ^Lisl,Dl* }kjk 
fufeZr gSA

	 2-	 ^LVkjf'ki* ,d varfj{k;ku rFkk vR;fèkd Hkkjh 
cwLVj jkWdsV gSA

	 3-	 bl varfj{k;ku esa 100 ehfVªd Vu ls vfèkd dkxksZ 
dks i`Foh ds vkWfcZV esa igq¡pkus dh {kerk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 70.	^flaxy fØLVy CysM* rduhd ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1-	 lkefjd vkSj j{kk dk;ks± esa mi;ksx fd;s tkus okys 
gsyhdkWIVjksa dks dfBu ifjfLFkfr;ksa esa fo'oluh; 
lapkyu ds fy;s NksVs] gYds ysfdu 'kfDr'kkyh 
batuksa ds fy;s ^flaxy fØLVy CysM* dk iz;ksx 
fd;k tkrk gSA

	 2-	 ^Lons'kh gsyhdkWIVj fodkl dk;ZØe* ds rgr lkB 
flaxy fØLVy CysMksa dh vkiwfrZ ,p-,-,y- dks 
dh xbZ gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 71.	^lkbysaV gkbiksfDl;k* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 lkbysaV@gSIih gkbiksfDl;k* jDr esa vkWDlhtu dh 
deh dk ,d ,slk Lo:i gS ftldh igpku fu;fer 
gkbiksfDl;k dh rqyuk esa dfBu gSA

	 2-	 dksfoM&19 ls ihfM+r dqN ejh”kksa ds jDr esa 
vkWDlhtu dh ek=kk 80 izfr'kr ls de gksus ds 
ckotwn mudks lk¡l ysus esa dksbZ rdyhiQ ugha gks 
jgh gSA

	 3-	 dksjksuk ok;jl dh nwljh ygj ds nkSjku ^lkbysaV@
gSIih gkbiksfDl;k ds ekeyksa esa deh ns[kh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 3

	 (c)	 dsoy 1 vkSj 2	 (d)	dsoy 2 vkSj 3

	 3.	 The purpose of the Whitley Awards is to 
support wildlife conservationists working at 
the grassroots level.

	 4.	 This award is also known as 'Green Oscar'.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2 and 4 only

	 (c)	 1 and 3 only	 (d)	 1, 2, 3 and 4

	 69.	 Consider the following statements in the context of 
'Starship' spacecraft-

	 1.	 It is produced by the US private space agency 
'SpaceX'.

	 2.	 'Starship' is a spacecraft and very heavy booster 
rocket.

	 3.	 This spacecraft has the capacity to transport 
more than 100 metric tons of cargo to Earth's 
orbit.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 70.	 Consider the following statements in the context of 
'Single Crystal Blade' technique-

	 1.	 Helicopters used in tactical and defence 
operations use 'single crystal blade' for small, 
light but powerful engines for reliable 
operation in difficult conditions.

	 2.	 Sixty single crystal blades have been supplied 
to HAL under the 'Indigenous Helicopter 
Development Programme'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 71.	 With reference to 'Silent Hypoxia' Consider the 
following statements:

	 1.	 'Silent/happy hypoxia' is a form of oxygen 
deficiency in the blood that is more difficult to 
detect than regular hypoxia.

	 2.	 Some patients suffering from COVID-19 are 
not having any problem in breathing despite 
the oxygen content in their blood being less 
than 80%.

	 3.	 There has been a decrease in the cases of 'silent/
happy hypoxia' during the second wave of 
corona virus.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 3 only

	 (c)	 1 and 2 only	 (d)	 2 and 3 only
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	 72.	^vkWDlhtu dkalaVªsVj* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 vkWDlhtu dkWULkaVªsVj ,d fpfdRlk midj.k gS tks 
ok;qeaMy ls vkWDlhtu dks ladsafnzr djrk gSA

	 2-	 ;g ok;qeaMy esa ekStwn ok;q dks fiQYVj ds ekè;e 
ls lkiQ dj vkSj ukbVªkstu dks vyx djds okil 
ok;qeaMy esa NksM+ nsrk gSA blls izkIr vkWDlhtu 
90&95 izfr'kr rd 'kq¼ gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 73.	^Vw&MhvkWDlh&Mh&Xywdks”k* Mªx ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g Mªx ok;jl ls laØfer dksf'kdkvksa esa tek gks 
tkrh gS vkSj ok;jy la'ys"k.k rFkk ÅtkZ mRiknu 
dks jksddj ok;jl ds fodkl dks jksdrh gS rFkk 
mls fuf"Ø; dj nsrh gSA

	 2-	 ;g ,d ,aVh&dksfoM Mªx gS ftls vkbZ-lh-,e-vkj- 
us fodflr fd;k gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 74.	^E;wdjekbdksfll* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 dk s foM&19 l s l aØfer db Z jk s fx;k s a  e s a 
^E;wdjekbdksfll* dk laØe.k ns[kk x;k ftls 
^CySd iQaxl* ds uke ls Hkh tkuk tkrk gSA

	 2. 	 ;g E;wdjek;flfVl uked iQiQw¡n ds dkj.k gksrk 
gS tks i;kZoj.k esa izpqj ek=kk esa ekStwn gSA

	 3-	 bldk lapj.k 'okl] lajksi.k ;k i;kZoj.k esa ekStwn 
chtk.kqvksa ds varxzZg.k }kjk gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 75.	,f'k;kbZ 'ksj ds lanHkZ esa fuEufyf[kr esa ls dkSu&lk dFku 
lgh ugha gS\	

	 (a)	 ;g if'pe caxky] eè; izns'k vkSj eè; Hkkjr ds 
ikfjfLFkfrdh i;kZokl esa ik, tkrs gSaA

	 (b)	 orZeku esa fxj jk"Vªh; m|ku vkSj oU;tho vHk;kj.; 
,f'k;kbZ 'ksj dk ,dek=k fuokl LFkku gSA

	 (c)	 vkbZ-;w-lh-,u- dh jsM fyLV esa yqIrizk; izk.kh 
?kksf"kr gSA

	 (d)	 xqtjkr ou foHkkx us o"kZ 2020 esa fxj ou {ks=k esa 
,f'k;kbZ 'ksjksa dh vkcknh esa o`f¼ ntZ dh FkhA

	 72.	 Consider the following statements in the context of 
'Oxygen Concentrator':

	 1.	 Oxygen concentrator is a medical device that 
concentrates oxygen from the atmosphere.

	 2.	 It cleans the air present in the atmosphere 
through a filter and separates the nitrogen and 
releases it back into the atmosphere. The 
oxygen obtained from this is 90-95 percent 
pure.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 73.	 Consider the following statements in the context of 
the drug '2-Deoxy- d-glucose':

	 1.	 This drug accumulates in virus-infected cells 
and inhibits virus growth and inactivates it by 
inhibiting viral synthesis and energy 
production.

	 2.	 It is an anti-COVID drug developed by ICMR.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 74.	 Consider the following statements in the context of 
'Mucormycosis':

	 1.	 Mucormycosis, also known as 'black fungus', 
was observed in many patients infected with 
COVID-19.

	 2.	 It is caused by a fungus called mucormysitis, 
which is abundant in the environment.

	 3.	 It is transmitted by inhalation, inoculation or 
by ingestion of spores present in the 
environment.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 75.	 Which one of the following statements is not correct 
in the context of  Asiatic Lion?

	 (a)	 It is found in the ecological habitat of West 
Bengal, Madhya Pradesh and Central India.

	 (b)	 Presently the Gir National Park and Wildlife 
Sanctuary is the only habitat of the Asiatic 
Lion.

	 (c)	 It is declared an endangered animal in the 
IUCN Red List.

	 (d)	 The Gujarat Forest Department had recorded 
an increase in the population of Asiatic lions 
in the Gir forest area in the year 2020.



23lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 8750187501, 011-47532596

bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 76.	jsM b;MZ LykbMj dNqvk ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1-	 gsisVksykWftLV~l ds vuqlkj vkØked jsM b;MZ 
LykbMj dNqvk Hkkjr ds iwoksZÙkj {ks=k esa ty fudk;ksa 
dh tSo&fofoèkrk ds fy;s ,d cM+k [krjk cu 
ldrk gSA

	 2-	 vesfjdk vkSj mÙkjh esfDldks bu dNqvksa dk i;kZokl 
LFky gSA

	 3-	 Hkkjr dk iwoksZÙkj {ks=k ns'k esa dNqvksa vkSj dNqvksa 
dh 72 izfr'kr ls vfèkd iztkfr;ksa dk fuokl gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 77.	ck;ksfMxzsMscy ;ksxk eSV ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s&

	 1-	 bls f=kiqjk ds eNqvkjksa us fodflr fd;k gS ftls 
^ewjgsu ;ksxk eSV* dgk tkrk gSA

	 2-	 ;g gkFk ls cquh gqbZ lkS izfr'kr ck;ksfMxzsMscy vkSj 
tydqaHkh ls fodflr lkS izfr'kr daiksLVscy eSV gSA

	 3-	 ;g eSV tydqaHkh dks gVkdj nynyh Hkwfe ds 
tyh; bZdksflLVe esa lqèkkj yk ldrh gS rFkk 
LFkkuh; leqnk;ksa ds fy;s vkthfodk ds volj 
iSnk dj ldrh gSA 	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 78.	;wjsfu;e ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s&
	 1-	 ;wjsfu;e izkÑfrd :i ls de lkanzrk esa feV~Vh] 

pV~Vku vkSj ty esa ik;k tkrk gSA

	 2-	 ;wjsfu;e dk ?kuRo cgqr vfèkd gksrk gSA

	 3-	 Hkkjr esa ;wjsfu;e ds HkaMkj èkkjokM+ pV~Vkuksa esa ik, 
tkrs gSaA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 79.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 gky gh esa tutkrh; ekeyksa ds ea=kky; us ,dyO; 

ekWMy vkoklh; fo|ky;ksa vkSj vkJe tSls Ldwyksa 
esa fMftVyhdj.k c<+kus gsrq ekbØkslkWÝV ds lkFk 
le>kSrk Kkiu ij gLrk{kj fd;s gSaA

	 2-	 ekbØkslkWÝV] vkfVZfiQf'k;y baVsfytsal lfgr vxyh 
ih<+h dh izkS|ksfxfd;ksa dks lHkh bZ-,e-vkj-,l- Ldwyksa 
esa vaxzs”kh vkSj fgUnh nksuksa esa vkfnoklh Nk=kksa rFkk 
f'k{kdksa dks gqujean cukus ds fy;s ikB~;Øe miyCèk 
djk,xkA

	 76.	 Consider the following statements in the context of 
'Red Eared Slider Turtle'-

	 1.	 According to herpetologists, the invasive red-
eared slider turtle can pose a major threat to 
the biodiversity of water bodies in the north 
eastern region of India.

	 2.	 America and northern Mexico are the habitat 
of these turtles.

	 3.	 Northeast region of India is home to more than 
72 percent species of tortoises in the country.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 77.	 Consider the following statements in the context of 
'Biodegradable Yoga Mat'-

	 1.	 It is developed by the fishermen of Tripura 
called 'Moorhen Yoga Mat'.

	 2.	 It is hand woven 100% biodegradable and 
100% compostable mat developed from 
hyacinth.

	 3.	 This mat can improve the aquatic ecosystem 
of marshlands by removing hyacinths and 
create livelihood opportunities for local 
communities.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 78.	 Consider the following statements in the context of 
Uranium-

	 1.	 Uranium is  found natura l ly  in  low 
concentrations in soil, rock and water.

	 2.	 The density of uranium is very high.

	 3.	 The deposits of uranium in India are found in 
the Dharwar rocks.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 79.	 Consider the following statements:
	 1.	 Recently the Ministry of Tribal Affairs has 

signed MoU with Microsoft to increase 
digitization in schools like Eklavya Model 
Residential Schools and Ashrams.

	 2.	 Microsoft will provide courses in next 
generation technologies including Artificial 
Intelligence to skill tribal students and teachers 
in both English and Hindi in all EMRS schools.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 80.	”khjksbax bu vkWu eysfj;k ,fyfeus'ku ds lanHkZ esa 

fuEufyf[kr esa ls dkSu&lk dFku lgh ugha gS\	

	 (a)	 fo'o LokLF; laxBu }kjk ̂ ”khjksbax bu vkWu eysfj;k 

,fyfeus'ku* fjiksVZ tkjh dh xbZ gSA

	 (b)	 o"kZ 2021 ds fy;s fo'o eysfj;k fnol dh Fkhe 

^jhfpax n ”khjks eysfj;k VkjxsV* gSA

	 (c)	 fo'o LokLF; laxBu }kjk viuh ^bZ&2025 igy* 

ds rgr ,sls 25 ns'kksa dh igpku dh xbZ gS ftUgsa 

o"kZ 2025 rd eysfj;k eqDr ns'k cukuk gSA

	 (d)	 eysfj;k ,d ePNj tfur jksx gS tks Iyk”eksfM;e 

ok;jl ds dkj.k gksrk gSA

	 81.	tyok;q ifjorZu dk cPpksa ij izHkko ds fo'ys"k.k ds 

lanHkZ esa fuEUfyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g uksVªs Mse Xykscy ,MsIVs'ku bfuf'k,fVo lwpdkad 

ij vkèkkfjr fo'ys"k.k gSA

	 2-	 ^lso n fpYMªu baVjus'kuy* }kjk bl fo'ys"k.k dk 

vkdyu fd;k x;k gSA

	 3-	 fo'o ds 45 ns'kksa esa ls mi&lgkjk vÚhdk ds 35 

ns'k lokZfèkd tyok;q tksf[ke esa 'kkfey gSaA

	 4-	 45 ns'kksa ds 750 fefy;u cPpksa esa ls rhu nf{k.k 

,f'k;kbZ ns'kk s a (ikfdLrku] ck aXykns'k vkSj 

viQxkfuLrku) ds 210 fefy;u cPpksa ds tyok;q 

tksf[ke ls lcls vfèkd izHkkfor gksus dh 

laHkkouk gSA	

	 	uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 82.	^varjkZ"Vªh; laxzgky; fnol* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1-	 laxzgky;ksa ds lanHkZ esa yksxksa dh tkx:drk c<+kus 

gsrq izR;sd o"kZ 18 ebZ dks varjkZ"Vªh; laxzgky; 

fnol euk;k tkrk gSA

	 2-	 o"kZ 2021 esa bl fnol dh Fkhe ^laxzgky;ksa dk 

Hkfo";% iquizkZfIr vkSj iqu%dYiuk* gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 80.	 Which of the following statements is not correct in 
the context of  'Zeroing in on Malaria Elimination'?

	 (a)	 The 'Zeroing in on Malaria Elimination' report 
has been released by the World Health 
Organization.

	 (b)	 The theme of World Malaria Day for the year 
2021 is 'Reaching the Zero Malaria Target'.

	 (c)	 Under its 'e-2025 initiative' by the World 
Health Organization, 25 such countries have 
been identified which are to become malaria-
free countries by the year 2025.

	 (d)	 Malaria is a mosquito-borne disease caused by 
Plasmodium virus.

	 81.	 With reference to the analysis on the impact of climate 
change on children Consider the following statements:

	 1.	 This is an analysis based on the Notre Dane 
Global Adaptation Initiative Index.

	 2.	 This analysis has been assessed by 'Save the 
Children International'.

	 3.	 Of the 45 countries in the world, 35 countries 
in sub-Saharan Africa are at greatest risk of 
climate change.

	 4.	 Out of 750 million children in 45 countries, 
210 million children in three South Asian 
countries (Pakistan, Bangladesh and 
Afghanistan) are most likely to be affected by 
climate exposure.

		  Select the correct answer using the code given below:
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 82.	 Consider the following statements in the context of 
'International Museum Day':

	 1.	 International Museum Day is celebrated every 
year on 18th May to raise public awareness 
about museums.

	 2.	 The theme of the day in 2021 is 'The Future 
of Museums: Recovering and Reimagining'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 83.	ukSlSfud vH;kl ̂ o#.k&2021* fdu ns'kksa ds eè; vk;ksftr 
fd;k x;k\

	 1-	 Hkkjr

	 2-	 teZuh

	 3-	 Úk¡l

	 4-	 :l

	 5-	 vesfjdk	

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 3 vkSj 4	 (d)	dsoy 1 vkSj 5

	 84.	^mUur pSiQ izkS|ksfxdh* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s&

	 1-	 ;g :l }kjk fodflr izkS|ksfxdh gSA

	 2-	 ;g ukSlSfud iksrksa dks 'k=kq felkby geys ls cpkus 

ds fy;s iz;qDr gksus okyh izkS|ksfxdh gSA

	 3-	 bl izkS|ksfxdh dks gok esa rSukr fd;k tkrk gS] tks 

viuh rjiQ vk jgh 'k=kq dh felkby dks Hkze esa 

Mkydj fo{ksfir dj nsrh gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	dsoy 1 vkSj 3

	 85.	lhek lM+d laxBu ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s&

	 1.	 7 ebZ] 2021 dks lhek lM+d laxBu us viuk 

61ok¡ LFkkiuk fnol euk;kA

	 2.	 ;g laxBu lhekorhZ {ks=kksa esa lM+d dusfDVfoVh 

iznku djus esa vxz.kh Hkwfedk vnk dj jgk gSA

	 3-	 lhek lM+d laxBu us HkwVku] E;k¡ekj] viQxkfulrku 

vkfn fe=k ns'kks a es a Hkh lM+dks a dk fuekZ.k 

fd;k gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 86.	ikbFku&5 felkby ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s&

	 1-	 ikbFku&5 ^,;j Vw ,;j felkby* iQk;fjax iz.kkyh 

dks Hkkjr ds Lons'kh ykbV dkWEcSV ,;jØkÝV rstl 

ds csM+s esa 'kkfey dj fy;k x;k gSA

	 2-	 og felkby :l }kjk fodflr dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 u gh 2

	 83.	 Naval exercise 'Varuna-2021' was organized between 
which of the following countries?

	 1.	 India 

	 2.	 Germany 

	 3.	 France 

	 4.	 Russia 

	 5.	 America

		  Select the correct answer using the code given below:
	 (a)	 1 and 2 only	 (b)	 1 and 3 only

	 (c)	 3 and 4 only	 (d)	 1 and 5 only

	 84.	 Consider the following statements in the context of 
'Advanced Chaff Technology'-

	 1.	 It is a technology developed by Russia.

	 2.	 It is a technology used to protect naval ships 
from enemy missile attack.

	 3.	 This technology is deployed in the air, which 
confuses and deflects an enemy missile coming 
towards it.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only

	 (c)	 3 only	 (d)	 1 and 3 only

	 85.	 Consider the following statements in the context of  
Border Roads Organization-

	 1.	 The Border Roads Organization celebrated its 
61st Foundation Day on May 7, 2021.

	 2.	 This organization is playing a leading role in 
providing road connectivity to the border 
areas.

	 3.	 The Border Roads Organization has also 
constructed roads in friendly countries like 
Bhutan, Myanmar, Afghanistan etc.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 86.	 Consider the following statements in the context of 
'Python-5 Missile'-

	 1.	 The Python-5 'Air to Air Missile' firing system 
has been inducted into the fleet of India's 
indigenous Light Combat Aircraft Tejas.

	 2.	 That missile is developed by Russia.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 87.	^jklk;fud gfFk;kj fu"ksèk laxBu* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g laxBu la;qDr jk"Vª la?k }kjk lefFkZr ,d Lora=k 
laLFkk gSA

	 2-	 Hkkjr ds fu;a=kd ,oa egkys[kkijh{kd fxjh'kpanz 
eqewZ dks rhu o"khZ; dk;Zdky ds fy;s bl laxBu 
dk cká ys[kkijh{kd pquk x;k gSA

	 3-	 bl laxBu es a dqy 80 gLrk{kjdÙkk Z ns'k 
'kkfey gSaA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mi;qZDr lHkh

	 88.	vkbZ-,u-,l- jktiwr ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1-	 bldk fuekZ.k rRdkyhu lksfo;r la?k esa o"kZ 1977 
esa iw.kZ fd;k x;kA

	 2-	 vkbZ-,u-,l- jktiwr dks gky gh esa fMdeh'ku fd;k 
x;k gSA

	 3-	 blus Jhyadk esa fyV~Vs ds fo#¼ Hkkjrh; vfHk;kuksa 
esa vkSj ekynho rV ij o"kZ 1988 esa ^vkWijs'ku 
dSDVl* esa Hkh fgLlk fy;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1

	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 89.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 nwf"kr ikuh dks bLrseky ds yk;d cukus ds fy;s 
xqtjkr ds 'kgjh {ks=kksa esa ,d ty fxzM dh LFkkiuk 
dh xbZ gSA

	 2-	 xqtjkr leqnzh ty dks ihus yk;d cukus ds fy;s 
foyo.khdj.k la;a=k yxkus okyk nwljk jkT; gSA

	 3-	 rfeyukMq foyo.khdj.k la;a=k yxkus okyk igyk 
jkT; gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 90.	fuEufyf[kr dFkuksa ij fopkj dhft;s&

	 1-	 gky esa egkjk"Vª ljdkj us ̂ oYMZ bdksukWfed iQksje* 
ds lkFk ,d le>kSrk djds fofHkUu ljdkjh 
ifj;kstukvksa esa MªksUl dk mi;ksx c<+kus dh ckr 
dh gSA

	 2-	 MªksUl esa e'khu yfu±x_ vkfVZfiQf'k;y baVsfytsal] 
gkbijLisDVªy fjeksV lsaflax tSlh vkèkqfud rduhdksa 
dk lekos'k djds bUgsa Ñf"k ds fy;s vfèkd mi;ksxh 
cukuk gSA

	 87.	 Consider the following statements in the context of 
'Organization for the Prohibition of Chemical 
Weapons':

	 1.	 This organization is  an independent 
organization supported by the United Nations.

	 2.	 The Comptroller and Auditor General of India 
Girish Chandra Murmu has been elected as the 
external auditor of this organization for a three-
year term.

	 3.	 A total of 80 signatory countries are involved 
in this organization.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 All of the above
	 88.	 Consider the following statements in the context of 

'INS Rajput'-
	 1.	 Its construction was completed in the year 1977 

in the then Soviet Union.
	 2.	 INS Rajput has been decommissioned recently.
	 3.	 It also took part in Indian operations against 

the LTTE in Sri Lanka and in 'Operation 
Cactus' in 1988 off the Maldives coast.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 1 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 89.	 Consider the following statements:
	 1.	 A water grid has been established in the urban 

areas of Gujarat to make the contaminated 
water usable.

	 2.	 Gujarat is the second state to set up a 
desalination plant to make sea water potable.

	 3.	 Tamil Nadu is the first state to set up a 
desalination plant.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 90.	 Consider the following statements-
	 1.	 Recently, the Maharashtra government has 

entered into an agreement with the 'World 
Economic Forum' to increase the use of drones 
in various government projects.

	 2.	 By incorporating modern technologies like 
machine learning, artificial intelligence, 
hyperspectral remote sensing in drones to 
make them more useful for agriculture.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 91.	efgykvksa ds jktuhfrd izfrfufèkRo ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s&

	 1-	 1992 esa lafoèkku ds 73osa lafoèkku la'kksèku ds 

rgr iapk;rh jkt laLFkkuksa esa efgykvksa ds fy;s 

33 izfr'kr lhVsa vkjf{kr dh xb±A

	 2-	 uhfr vk;ksx ds vuqlkj 15 izfr'kr jkT;ksa vkSj 

dsanz'kkflr izns'kksa ds iapk;rh jkt laLFkkuksa esa 50 

izfr'kr ls Hkh ”;knk efgyk,¡ fuokZfpr izfrfufèk gSa 

tcfd jk"Vªh; Lrj ij ;g vk¡dM+k 44 izfr'kr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 92.	2.5 ekbØksehVj okys iznwf"kr d.kksa esa fuEufyf[kr esa ls 

dkSu lh xSlsa 'kkfey gSa&

	 1-	 ukbVªkstu vkWDlkbM

	 2-	 lYiQj MkbvkWDlkbM

	 3.	 dkcZu eksuksvkWDlkbM

	 4-	 ehFksu

	 5-	 csathu	

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 2, 3 vkSj 4	 (b)	dsoy 2, 3, 4 vkSj 5

	 (c)	 dsoy 1, 3, 4 vkSj 5	 (d)	mijksDr lHkh

	 93.	fuEufyf[kr esa ls dkSu ijkyh ds mi;ksx esa 'kkfey gSa\

	 1-	 bZdksÚsaMyh di vkSj IysV dk fuekZ.k

	 2-	 fo|qr fuekZ.k

	 3-	 e'k:e dh [ksrh esa iz;qDr

	 4-	 bFksukWy mRiknu

	 5-	 oL=k fuekZ.k	

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	dsoy 1, 2, 3 vkSj 4

	 (c)	 dsoy 1, 4 vkSj 5	 (d)	mijksDr lHkh

	 94.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g eè; v{kka'kksa esa egk}hiksa ds if'peh Hkkxksa esa 

ik, tkus okys ou gSaA

	 2-	 ;gk¡ xzh"e Írq xeZ vkSj 'kq"d tcfd 'khr Írq 

BaMh vkSj vknzZ gksrh gSA

	 3-	 ;gk¡ tkM+ksa esa o"kkZ gksrh gSA

	 4-	 ;gk¡ dkdZ] tSrwu] ikbu o`{k ik, tkrs gSaA

	 91.	 Consider the following statements in the context of 
political representation of women-

	 1.	 33 percent seats were reserved for women in 
Panchayati Raj Institutions under the 73rd 
Constitutional Amendment of the Constitution 
in 1992.

	 2.	 According to NITI Aayog, more than 50% 
women are elected representatives in 
Panchayati Raj Institutions in 15% of states 
and union territories, while at the national level 
this figure is 44 percent.

		  Which of the statement(s) given above is/are correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 92.	 Which of the following gases are included in the 
polluted particulate matter of 2.5 micrometers?

	 1.	 Nitrogen oxide 

	 2.	 Sulphur dioxide 

	 3.	 Carbon monoxide 

	 4.	 Methane 

	 5.	 Benzene

		  Select the correct answer using the code given below:

	 (a)	 1, 2, 3 and 4 only	 (b)	 2, 3, 4 and 5 only

	 (c)	 1, 3, 4 and 5 only	 (d)	 All of the above

	 93.	 Which of the following are involved in the use of 
stubble?

	 1.	 Manufacture of eco-friendly cups and plates 

	 2.	 Electricity generation 

	 3.	 Used in mushroom cultivation 

	 4.	 Ethanol production 

	 5.	 Textile Manufacture

		  Select the correct answer using the code given below:

	 (a)	 1, 2 and 3 only	 (b)	 1, 2, 3 and 4 only

	 (c)	 1, 4 and 5 only	 (d)	 All of the above

	 94.	 Consider the following statements:

	 1.	 These are the forests found in the western parts 
of the continents in the middle latitudes.

	 2.	 Here the summers are hot and dry while the 
winters are cool and humid.

	 3.	 It rains here in winters.

	 4.	 Cork, olive, wine trees are found here.
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	 	mi;qZDr fo'ks"krk,¡ fdl izdkj ds ouksa ls lacafèkr gSa\
	 (a)	 Hkweè;lkxjh; ou

	 (b)	 VSxk ou

	 (c)	 eè; v{kka'kh; i.kZikrh ou

	 (d)	 eè; v{kka'kh; lnkcgkj ou

	 95.	osVySaM~l :Yl] 2017 ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1-	 Hkkjr ljdkj us vknzZHkwfe;ksa esa fofHkUu xfrfofèk;ksa 

dks izfrcafèkr djus ds fy;s u, ̂ vknzZHkwfe (laj{k.k 

vkSj izcaèku) fu;e] 2017* dks vfèklwfpr fd;k gSA

	 2-	 ;s fu;e dsoy jkelj vfHkle; ds vèkhu 

varjkZ"Vªh; egÙo dh vknzZHkwfe ds :i esa oxhZÑr 

vknzZHkwfe;ksa ij ykxw gksaxsA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2 

	 96.	eSaxzkso ikfjra=k ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s&

	 1-	 ;g ikfjra=k m".k vkSj miks".kdfVcaèkh; leqnzrVh; 

{ks=kksa esa ik, tkrs gSaA

	 2-	 eSaxzkso ewyr% LFkyh; ikSèks gh gksrs gSa tks ,'pqvjh] 

MsYVk] [kkM+h ;k }hiksa vkfn ij ik, tkrs gSaA

	 3-	 eSaxzkso ikSèks [kkjs ty ls yo.k dks vyx dj rk”ks 

ty dks vo'kksf"kr djrs gSaA	

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

	 97.	izoky fHkfÙk ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s&

	 1-	 izoky ,d izdkj dk tarq gS tks tqtSUFkys uked 

,ddksf'kdh; 'kSoky ds lkFk lgthfork esa jgrk 

gSA

	 2-	 vfèkdka'k izoky fHkfÙk;k¡ l¡djs egk}hih; eXurVksa 

ij ikbZ tkrh gSaA

	 3-	 izoky dh tSo&fofoèkrk vkSj ikfjfLFkfrdh 

mRikndrk vR;fèkd gksus ds dkj.k gh bUgsa ^leqnz 

dk o"kkZ ou* dgrs gSaA	

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	mijksDr lHkh

		  The above characteristics are related to which of the 
following type of forest?

	 (a)	 Mediterranean Forest

	 (b)	 Taiga Forest 

	 (c)	 Mid-latitude deciduous forest 

	 (d)	 Mid-latitude evergreen forest

	 95.	 With reference to the Wetlands Rules, 2017 Consider 
the following statements:

	 1.	 The Government of India has notified new 
'Wetlands (Protection and Management) Rules, 
2017' to prohibit various activities in wetlands.

	 2.	 These rules shall apply only to wetlands 
classified as wetlands of international 
importance under the Ramsar Convention.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 96.	 Consider the following statements in the context of 
mangrove ecosystem:

	 1.	 This ecosystem is found in tropical and sub-
tropical coastal areas.

	 2.	 Mangroves are basically terrestrial plants 
which are found on estuaries, deltas, bays or 
islands etc.

	 3.	 Mangrove plants absorb fresh water by 
separating salt from salt water.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above

	 97.	 With reference to the coral reef consider the following 
statements-

	 1.	 Coral is a type of animal, which lives in 
symbiosis with unicellular algae called 
zooxanthellae.

	 2.	 Most of the coral reefs are found on narrow 
continental shelf.

	 3.	 Due to the high biodiversity and ecological 
productivity of coral, they are called 'rain forest 
of the sea'.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 All of the above
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	 98.	 Consider the following statements:
	 1.	 The level of the food chain at which energy is 

used and stored by the biological community 
is called the nutritional level.

	 2.	 At each trophic level, a small fraction (usually 
10 percent) of energy is passed on to the next 
level of living beings.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 99.	 Consider the following statements:
	 1.	 The energy pyramid is the only pyramid that 

is always upright.

	 2.	 The total dry mass of organic matter available 
in a living organism is called its biomass.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	100.	 Consider the following statements in the context of 
'Cartagena Biosafety Protocol'-

	 1.	 The main objective of this protocol is to protect 
biodiversity from potential threats posed by 
the use of modern biotechnology.

	 2.	 Its purpose is to protect human health and also 
the environment from this harm.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 98.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 [kk|  Ük`a[kyk ds ftl Lrj ij tSfod leqnk; ds 

}kjk ÅtkZ dk mi;ksx vkSj lap; gksrk gS] mls iks"k.k 
Lrj dgrs gSaA

	 2-	 izR;sd iks"k.k Lrj ij ÅtkZ dk ,d NksVk va'k 
(lkekU;r% 10 izfr'kr) vxys Lrj ds thoèkkfj;ksa 
dks izkIr gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	 99.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 ÅtkZ fijkfeM ,dek=k ,slk fijkfeM gS tks ges'kk 

lhèkk gh gksrk gSA

	 2-	 fdlh thfor izk.kh esa miyCèk dkcZfud inkFkks± dk 
dqy 'kq"d Hkkj mldk tSo Hkkj dgykrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	100.	^dkVkZtsuk tSo lqj{kk izksVksdkWy* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s&

	 1-	 bl izk sVk sdkWy dk eq[; mn~ns'; vkèk qfud 
tSo&rduhdh ds iz;ksx ls mRiUu gksus okys laHkkfor 
[krjksa ls tSo&fofoèkrk dh j{kk djuk gSA

	 2-	 bldk mn~ns'; ekuo LokLF; vkSj i;kZoj.k dks Hkh 
bl gkfu ls cpkuk gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2


